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R Shfmafor 7 CrviL ENGINEERING

\./‘9 Weight of one bag of cement is:

(A) 70kg +(B) S5S0kg '
(C) 60kg D) 65k @
. Jj@) Los Angles machine is used to test aggregate
A) Crushf'ng str;ngth (B) Impact value o /@T @
(C) Abrasion resistance (D) Water absorption .- :
e Ul it sl B B e o o
rar e & ;

(A) Weo9 TEed & R (B)@QEW%%:Q
(C) 3gepdor yRREr & ey D) i 3fgeEwor & o

The insoluble residue in cement should be
(A) Between 20% to 25%
(B) Less than 20% o~ @
(C) Between 10% to 20%
« (D) Less than 1.5%
Wi # argeaeiier siaem 27 =ifay
{(A) 20% 9§ 25% & 4919 @\
B) 20% &\ =9 :
©) 10% | 20% & 9O
D) 15% I FH

f For checking the length of bricks as per Indian standards how many bricks
are to be taken:

ST =nfa: .
A) 10 @) 15
(© 20484 < M®) 25

\/!@ In analysis of rates, contractor profit is taken at the rate of
HWWW@WWWWWW%@

(A) 1% B) 5%
»(C) 10% D) 20%
Thickness of plastering is usually:
\/g) HHAOAT @ReY @7 JierE B & limd &
2(A) 6 mm s (B) 12 mm ' ;
) 25 mm (D) 40 mm
/@ No deduction is made while Plaster measurement in case of small openings
upto ’
TR B AmE D ouwg %-ﬁ%ﬁaﬁ/@@/qﬁ’rmﬁw
B HAA A& B o B
- (A)y 0.1 sq.m (B) 03 sqm
A4¢C) 0.5 sq.m (D) 0.7 sqm
IP.T.O.
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fafaw i / CIVIL ENGINEERING
Principle of surveying followed to prevent accumulation of errors is:
A) To work from whole to part
(B) To work from part to whole @
(C) Both (A) & (B) :

(D) none of above ‘g\“) ™
dad FRAT B AwA g W B e Rigia & ﬁ/
(A) ol |7 & 3rifdrs WrT @ SR adEor &HRAT 9
B) HifUe W § EHYof w9 8 R |wdeor e My

(C) <FT (A) w=rm (B) oF &

(D) SR d @i ad AN

As per Indian standard, the length of one link in 30m chain is

WA AFAGFER, 30 HWiex SN aﬁq—cﬁaﬁ‘z’raﬁaﬁa‘hﬁ aqf)
(A) 30 cm - (B) 20 cm =

(C) 40 cm (D) 10 cm 5

'@ f reduced bearing of a line is N 87°W, its whole circle bearing will be:
afy fredt YT &1 wnEa e N 7°W%a‘rsﬂ'cmqp‘iqaﬁm=§&o
BT A

© (A) 87° (B) 93° ; . 3
(C) 3° D) 267° 0RE 'L;"
1@ In a plane table survey, the plotting of inaccessible points can be coffveniently
done by a
(A) Method of resection (B) ‘Method of radiation @
(C) Method of traversing &) Method of intersection

5 figall & g8 = @ ((HE0T gedl) Vo @ AGaT g T &),
e fgan & Rafd snews =1 @ 9o adeer @51 fafer &1 smar
| e w1 wwar &

(A) Reufr faker fafy (B) fafevor fafey
_ (©) waR¥T fafey @) uftrese A
\%f Line joining points of equal elevations on earth surface is called
(A) Contour surface (B) Contour gradient @
Cf)f ®(C) Contour line (D) All of above b
g @ WEHHE S=rn oare fAgell @7 e el @ weeni &
(A) & wE B) HTx AeT=<
(C) . B =T O) SR
\/ If angle of internal friction of soil is 30°, coefficient of active earth pressure
" will be: _
CT/C afe gaT &1 aReE 'deT Pror 300 ® G Wiy @Qfew) s ons
BT (3
(A) 1/2 e (B) 1/3
(©) 1/4 (D) 2/3
EJE-2015 7 1I_A ) 3 [ P.T.O.

www.diplomagovtjobs.in



he angle of internal friction ¢ for cohesive soils is equal to W
WEHSTE g1 H sl udur epyor ¢ BRI
{A) 0©° = (B) 300
(C) 450 D) 15°

Plasticity index of soil is equal to
=(A) Liquid limit- Plastic limit (B) Liquid limit- Elastic limit "‘HV( 13:'
"(C) Elastic limit- Plastic limit (D) Elastic limit- Consistency limit

\}é s shfmfer 7 civiL ENGINEERING
T

1 Coefficient of uniformity is )
, A\
A 22 " ® 2 x
Dy, Dio )
Dso _
©) D4-0 » (D) None of above / sudrga 3 Brg wEY
— .,‘(:/I@The maximum size of clay particle is <
- e e & oo @1 sfSman Hg &
(A) 0.1 mm : (B) 0.03 mm @
o{C) 0.002 mm @) 0.0002 mm
\/f If salt is added in water, the surface tension of water will’
‘ ) Increase —e (B) Decrease
(C) Will not change (D) None of the above
I W NS Hie uv ur o7 g5 ;
(A) QT B) "aTT
(C) smuRafdfa =2+ D) Sudaa 7 9 »F =8 ¢
N
. /@When metacenter and center of gravity of any floating body coincide, the
floating body will be: .
(A) 1In Stable equilibrium (B) In Unstable equilibrium
® (C) In Neutral Equilibrium (D) in Real equilibrium
mwwﬁfgaﬂmﬁemwa}?wﬁwﬁmw
(A) Rer wHger & B) fRer wgera #
(C) TIrE= dge # (D) arwifdes wgas ¥
\\/Z@Flow in a pipe is laminar if the Reynolds’s number is ~ *
*(A) 1ess than 2000 (B) _Between 2000 and 4000 @

(C) Between 4000 and 6000 (D) Equal to 10000
TEY A W g @ fay e T B arfEd:
(A) 2000 9§ @H (B) 2000 & 4000 @ €7
(C) 4000 ¥ 6000 & g (D) 10000
4
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fafds sShiemfin /7 CIVIL ENGINEERING

When various fluid particles move in Zig-Zag paths, flow is called: i
(A) Laminar flow - e(B) Turbulent flow N,
(C) Uniform flow (D) None of above
ag uars, ITeH 9a&T 99 &ur ed—Ae Ant & vafag a8, seam«ar &
(A) T yaE ‘ B) faggsr gaw
(C) aaRedT uamE D) SR # BE A
22  The color of upper part of kilometer stone on road side in case of state Ly
highway is
W) Green 2 (B) Yellow (C) Brown (D) Red
Wwwfa%ﬁﬁaﬁaﬁgéﬁb—ohﬁ!awﬁﬁq—ma%mm
®f [ OBRT w :
A) =1 ®) drern C) a3 (D) <&
\/2‘5 The width of broad gauge is
IS Ao B drSiE B &
(A) 1576 m «B) 1676 m (C) 1.776 m 1.67 m

ARNI O9dh Hidd D JJER JHAA R Sfen Afede & 2

\/Z//@ The value of ruling gradient in plains as per Indian Road Congress
(A) 1in 10 B) 1in 15 (C) 1in 20 (D) ]m30i jké

A) 10 H 1 B) 15 i 1 (C) 20 ¥ 1 @) 30 #H 1
© The maximum allowable super elevation is: %
(A) 1in12 BSeB) 1in 18 «(C) 1 in 15 ®) 1in30 - }
st ®ip gurv qoderE T AF &
(A) 12 ® 1 B) 18 H 1 (C) 15 ¥ 1 D) 30 #H 1 4
\_)@ Manhole is generally provided at each: v '
(A) Bend (B) Junction @
(C), Change of gradient « (D) All of above
AR WIEHIEaYT §Er odr &
(A) 8 "l W B) =T ST W
(C) vwavrm # & gRadd 9v (D) Sudaa ¥ ue
The solid content of sewage is usually: R
wERTRT RaW () 4 o Boil @ " S @ &Y
(A) 99% (BY 80% ©) 15% ®») 1%
The dissolved oxygen concentration with the increase in
/® temperature of water. 2 e
e(A) Decreases @
{B) Increases
(C) Remains same
(D) Sometime increases and sometime decreases ==
STel 1 aigHE €989 9R Swl sl gfera sifeefior= @ wian
(A) "w<h B B) d«Fd ® .
(C) &Y =< & (D) N "@gdl 8 3R HfH gedr 2|
EJE-2015/1I_A ] 5 [P.T.O.
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@ As per Indian standard (IS 10500: 2012) of drinking water Spe(;:ﬁcatlon'
concentration of iron in drinking water should not exceed:

HIRA A& (IS 10500:2012) 991 &1 ari—fafdfe & agwr, €9 -‘:r% gl

H A & ogigdr ¥ afsies 8 80 =fEv
oF(A) 0.5 mg/L (B) 0.4 mg/L
{(C) 0.3 mg/L P~ D) 0.2mg/L

(Ms per National Ambient Air Quality standards, maximum permissible
concentration of NO, (24 hr. average) in ambient air in residential area is

mewwﬁmm&ﬁaﬁNoaﬁm

He ol 3R ifSpod #E 81 9adt 2

(A) 100 pg/nd - (B) 80 pg/m3 A~

(C) 60pg/m3 (D) 40ug/m?

The breadth of rib in a T-beam should at leastbeequaltothe __ depth
‘/3’@ of rib. - =

(A) one-half -a (B) one-third .

(C) one-fourth (D) one-sixth

TH—E—exT ¥, Ry @ AsE, wﬁwﬁaa&mﬁaﬁsﬁ’raﬂ%q—

(A) UH— 3T B) Y dERT

(C) Us— =HerE D) TFH- BT

~_32 The tensile strength of concrete, expressed as the ratio of compressive
5 strength is

o= ufaee zﬁﬂﬁea%ﬂﬁ@ﬁuﬁ‘wﬁ%aﬁgmﬁﬁwaﬁmmél

R 1 &y ) 1 ey

S @) 335 © 1= e D) 15 :
33 In a pre-stressed concrete structure _

(A) dead load of structure is reduced

(B) cracking of concrete is avoided @

(C) the cost of supporting structure and foundation is reduce

« (D) all of the above

Srees Tc @ T § | | _
(A) TRIAT HT 3=EA OR HH 8 ST D - W
(B) &HIc H IR MM 9 &> IRl 81 } "’h
(C) WERT ¥91 9l OXo-1 ¢d 19 &1 Hed &H B oier ) L
(D) SUTT Y

\/;@ If o is the stress in bar and T,, is the design bond stress them@
- - - ) ...

development length of a bar of diameter ¢ is given by: P
afd o, e ws ¥ wfoae & iR 1, afPoy oie wRma & o

4¢ o e 2¢ o, P
A - C
) Tod = Woa © 3T ) 3Ta
EJE-2015 / II_A ] 6 [P.T.O.
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s @ity / CIVIL ENGINEERING
\/35/ In the design of a two-way slab restramed at ali edges tors1onaj remforcement

required is' - @
ot (A) 0.375 times the area of steel provided in -shorter span
(B) 0.375 times the area of steel provided at mid-span in the same direction
) 0.75 times the area of steel provided at mid-span in the same direction
(D) None of the above

T fEAaRr & I Y @ fawed § d9) Ww & fEonga #
avad gUita uaa 8

(A) ®r g 4 yad & P §3%e BT 0375 AT

B) =S fawr #, do-—ue R ged & D SF6dA BT 0375 YAl
(C) =¥ feum &, fro—vic R us@ & B SIBA BT 0.75 AT
D) SR | Hmig T8

\/@ In double reinforced sections, total reinforcement percentage should not
exceed: N

TN vefaa ool ¥ swEm @) @A uges  gfeergar &
s =8 EFf afgw
e (A) 4 @) © - ©) 8 (D) 10
~/3é.p A reinforced concrete beam, supported on columns at ends, has a clear span

5 m and 0.5 m effective depth. It carries a total uniformly distributed load
100 KN/m. The design shear force for the beam is

S wwuﬁﬁaﬁﬁeaﬁwmﬁwsm%ﬁwmm
' 05 m B SRF U THA HHIART AR 100 KN/m 2| &°9 &1 E:-
FIT I B
e (A) 250 KN (B) 200KN (C) 175 KN (D) 150KN

@:

being exceeded, during the life of structure is equal to:

TEICTIRAPG AR A a9l S8 AR T B s o™ O WReEen @ Shae
H IH AR H A s B WEn @efared) s o

(A) 90% o(B) 95% (©) 99% D) 100%

The tensile strength of concrete in flexure as per 1S:456 is:

IS456 & IJHER FFHA @) F ®w¥ie o a9 wmed 8 81 A

&
%

&°

g
¢

&

The term ‘Characteristic load” means that load which has a probability of not@

(A) o.s,/-fck B 0.7,/)2,,, ©) 0.751[1’ck D) 0.9 J7f, iy

/40 For a slab spanning in two directions the ratio of span to the depth of slab
T should not exceed

ammﬁﬁmma%m.mamm(mwmwm@

fra ¥ s 98 291 aifau
(A) 10 (B) 20 «(C) 35 (D) 50

EJE-2015 /TI_A ] 7 [ P.T.O.
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A masonry dam may fail due to- i
(A) tension in the masonry of the dam and its base
(B) overturning of the dam _
(C) crushing of masonry at the base of the dam
(D) any one of the above ™
v g a fwe &Y wear &
(A) & & Fd vd smaR d g9 @ auis
(B) €™ & Yoiead 9
(©) & P MR R vEd & gewR B89 9
(D) ST F QA BF N o

/2@ Tension bars in a cantilever beam must be enclosed in the support up to:
AIA) Ly + 10d 2By Ly3 ©) 12¢ (D) d

)
AT

Where, d . Effective depth of beam

L4 : Development length
Wmaﬁﬁg@wwwa@mﬁwmaﬂ%&
(A) L +tod (B) Ly3 ©) 12¢ (D) d @
SIEf d e uERE @R @), Ly : e o
For field rivets the maximum permissible stresses in rivets and bolts as
given in codes are reduced by:
Pres RIST & R RIS 7 deet F siftwaw sige gfyast @1 «
F AFAR B w7 fpar o w@war &

(A) 5% o(B) 10% (C) 15% D) 20%

Rivets are generally specified by

(A) Shape {B) Diameter of head

(C) Owverall length e(D) Shank diameter @
Raet =1 urg: fray oy 27

(A) 3P G B) B B a9y

(C) ot o 9 D)y s @& =g A \:b(?/ , ,
The specific gravity of bitumen is .JW

fgHa =1 smiftys wacw 2
(A) 1.78 4B) 1.09 ©) 1.30 D) 0385

Separation of water, sand, cement from a freshly mixed concrete is called:
(A) bleeding (B) creeping (C) segregation @) flooding o
wfﬁaﬁ@aﬁﬁa@m,mﬁﬁemaﬁﬁaﬁﬁﬁ:

(A) THreggor B)  fRABgdor (C) Yagwvor D) JTETgT

Plaster of Paris is obtained by calcining: -~

(A) Bauxite Eﬂi’) Gypsum °<(C) Kanker (D) Limestone ﬁ"\~

ISR T 9y fpas Frames € a8t =

(A) qTaRaTST© (B) foream ©) s (D) FAT—TeR
EJE-2015 / II_A ] 8 [ P.T.O.
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\//8 The plinth area rate for construction of first and third floor of the building
(%) as per UPPWD has following felationship:

N
_ (A) Rate for first floor is higher than rate for third ﬂ
(B) Rate for first floor is lesser than rate for third floor
«£C) Both rates are same
(D) None of above
WPW%WwWﬁmmmﬂm%wm
FH fEba el # e e # %
(A) o frer @ av Nwd wfre @ aw @ aifte & B
(B) v #Ho @ qw WM Hwfaa @ )/ O\ s @
(C) &t <X waE €
(D) TUERT H Py TEl

4 The order of booking dimensions in standard measurement book@
«(A) Length, breadth, height (B) Breadth, length, height

(C) Height, breadth, length (D) Height, length, breadth

Hwtep w19 YRt 3 AW (SErE, #@erg, Jeng soaife) wRA &1 A e
BRIT &

(A) ofarg, dierd, $ard B) e, wEE, Surd

©) <, drerE, dad D) Sard, <tars, drerd

dimensions of door is multiplied by:

Yorer aRarel ¥ de @ oRlt g @ TRl §iid et @ (&, aRans
SES A H e | pon fHar oar &

(A) 125 _»s@B) 225 ©) 1 o(D) 2 ®
The size of modular brick is

'H@ﬂ?ie‘faa—rarﬁﬁwaﬁm%

\/0 For calculating the total quantity of paint on both sides of flush doors, out:ﬁ,

(A) 10 x 10 x 9 ¢m *B) 19 x 9 x 9 cm
(C) 225 % 10 x 8.5 cm (D) 225 x8 x 9 cm @
\/Sf Unit of measurement of D.P.C, is
@ (A) cum + (B) Sqg.m (C) Meter (D) Kg (&3 ’@
DPC. & HY & THE BRD 8 _
(A) =9 fWlew B) @@ M (©) #Hex (D) s

Theodolite measures:
(A) Horizontal angle only ’
(B) Vertical angle only
= (C) Horizontal and vertical angles.
(D) Horizontal distance
NS | AT SIr Wb 28°
(A) @ad &fas wroT (B) @ad FEAER aﬁw
(C) 8fast T SealR wror o) afow gfkar

EJE-2015 / IL_A ] o [ P.T.O.
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54 The series of closed contours having higher contour values inwards represent
&) (A)- Flat plane (B) Valley L(C) Mill (D) Lake
BT BT O 9F ®WAT BEF

(A) W was (B) 9 ©) vy (D) sha @
Alidade is used in .
(A) Chain surveying (B) Leveling

«(C) Planc table surveying (D) Compass surveyin,
(A) ST [degor
(B) doieor #F
(©) =1 s (Ri=vr o) wdeqor &
- (D) T deor ¥
% The longest chain line passing through the centre of the survey area is

known as ‘
(A) Base linee (B) Tie line

(C) Check line (D) None of above
ﬂﬁﬂmﬁ%@ﬁ@ﬁ?@ﬂ@ﬁﬁﬁ%@ﬁmm%
(A) IR IEr (B) HIRT Y
(©) g TEr D) SRR F§ HF T8
: The survey, in which the curvature of earth is considered, is ¢g cdg,g\
s (A) Geodetic surveying (B) Plane surveying ‘

(C) Geographical surveying (D) Land surveying
agﬂﬁaw.%mﬁgeﬁa%fhaﬁawaﬁmﬂﬁé‘,aﬁm%

(A) s |deyor B) WIaa wdarer
(C) wymfeis wderor (D) —wderor

k/@_ For a given degree of compaction, graph between dry unit weight of soil and
water content in soil is called FEN S
(A) Compression graph *{B) Moisture- density graph @K
(C) Void ratio graph (D) Porosity graph

ﬁmﬁrmﬁnﬁrwgﬂ%wmmaamﬁmaﬁw

(A) HN=H aw B) Mg aw
(C) R« U™ am D) =IYaT 9
The effective size of a soil is
ga&T & WA BT @t B 87 @
*(A) Dy, B) Dy (C) Dy (D) Dgo S .
50 Which of the following soils has the finest grains? .

(A) Coarse sand (B) Silt d{é =
(C) Fine sand e (D) Clay . @
FrfeiRaa § wad w8m o ey B B
(A) =HI& TR ®B) fa= ~
(©) #EF 919 D) fapN Far

EJE-2015 7 IL_A | 10 [{PT.O.
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A soil has 30% air voxds It has a porosny of 0.4 The air content of that 5011
shail be:

qa?ﬂmﬁso%mgw%lmwmo4§lﬂﬂafﬁrmgam ;5

Slalls ‘\’/xh,
(A) 075 - - «(B) 0.12 ‘f;(,, “\’ {h—D( A
Ky 133 05 ™ 077 - - D
'\% Due to rise in water table, the effective stress in soil: _ / >
(A) Increases @ (B) Decreases Y L ' 4
e (C) Does not change (D) May increase or decrease N2
Ty ot R oTFET i O wWR B Fed 9w ufdeen o
. (A) wWgdl B (B) Hcdr 8 . Q
a:z,.‘b ) waﬂémaﬁm%m)ﬁmmaﬁﬁw%i:’

If void ratio is 0.67, water content = 0.188 and sp. Gravity = 2.68, the degree \
of saturation of soil is:

aﬁﬁaawwo.m%,ﬁaaﬁwo.ma%aﬁ?mmﬁ—

-, 268 %a‘fﬁa’[aﬁﬂqﬁ%{a%w%
A) 25% B) 40%
;MO T% (D) 60%

\@' Rota meter is used to measure
» (A) Velocity of fluid (B) Kinetic energy of fluid

(C) Viscosity of fluid DQ(D) Flow of fluid b LF= e.
vep TSN | O HMMT orET & ‘ _ q?}
(A) €9 B UdE BT 4T (B) Tg & TR St S '
(C) =g &t gt (D) =g PHT HdE ‘
‘@ Pressure energy of fluid can be increased by using: €5 L}{
(A) Turbine L AB) Lump @
(C) Viscometer & "~ (D) Hydraulic ram
WS B TE FHoN BT Fg B fEFA wEm @ Al gE F wsd B
(A) 93T B) 99 ;
) T (D) Tfa®w = @
\_/@9 The ratio between inertia force and elastic force is caIIed'{DD
BA) Cauchy’s number o@ (B) Mach’s number _ | o
{C) Weber number (D) Reynolds’s number \Uc% Q j
TSAT §9 U UHRel g6 @ U @Y .. Hed B LIRS
(A) TR (B) A= <=m L
(C) QIR Heal (D) Iics HE=r Q?S'E‘L
K i? As compared to roadways, maintenance cost of railways is
(A) Nire 7 e(B) Less 7 @@ 3ba
(C) Same (D) None of above ok
JIGHET BT aveT Yo ennEAl @ IEREUT oInrd e
A) s=ifaw 2 B) TH 2 A
(C) = ® (D) TR # BE A8 -;,\:‘
JE-2018 /' t_A ] T+t [ P.T.O. %
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The highest point on a carriage way is known as:

(A) Camber#f -~ o) Crown el

(C) Super elevation — (D) Gradient

AR TSy B WY Y e fdg wEeier &

(A) &R ) @) wHrea

(C) gu¥ yaae— (D) ufsT=< :

— Number of fish bolts per fish plate joining rails are-

B ¥ TSt WY e WA v
e et @

ST ST 8 Qb oiter fver et afw

e . @ % @
o) 8

For a sewer line of 50 cm diameter, the spacing of manhole along stralght

run would be approximately.

T® 50 cm AT &1 Waw ofg > forg, ﬁqﬁa‘raﬂmwéaﬁiaﬁw

<1 BFft wnfag |

(A) bottom portton of ventilating

column

(A) 10 m - B) 100 m
(C) 500 m (D) 1000 m .Z
Cowl is provided at:
G5)

- (B) top portion of ventilating column S S

(C) top portion of manhole
- (D) at sewer joint
IS faar o &

e

~(A) afFeaféT sem & fad B8R g
~ B) AR wrem P U BR ux

(©) #8865 @ S9N BIW g
(D) Wex vyl & el W

72 To control vehicular pollution from

exhaust of vehicles, following is fitted:

(A) Electrostatic precipitator * (B) Catalytic converter %
(C) Bag filter (D) Cyclone separator

BT g RS s @ ol
ST SR &

e B Aw e (Toene) 3 e

A ) ﬁm?agamﬁa(sﬁaﬁ*ﬁ%ﬁnﬁﬁézv)

- (B) SER&E ufRacds (Sofafes
(C) AT freew

HaSN)

(D) FEFIFT ARER (Thara gufys)

.4

value should be in range of :

/;% As per Indian standard (IS 10500: 2012) of drinking water specification, pH

mv?ﬁuw(lswsoozom)ﬁ%awuﬁ—%ﬁr&a%pﬂawnﬁ

1 T F S erfee

(A) 6.5-80 ~B) 6585
(C) 6.0-85 D) 7.0

EJE-2015 / lI_A ]
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Sewerage system starts from _
@ X(A) House sewers . {(B) lateral sewers @

(C) Branch sewers (D) maln Sewers

WRH woet gE sk B

(A) I8 et | - B) uUrd @’ |

(C) wrar dasy _ (D) & HeR 9

f

&

76

7

©

The effective length of a steel column, effectively held in position and
restrained against rotation at both ends is:

(A) 0.80L | (B) 10L
) 065L M) 05L @
k'/(,V‘cfl'hf:rvs L: length of column ~£

‘T EE WH @ vHTE e, oy sadd Refa & i yr &1 iR sue
ST Rl @1 ol & PRI fear o8

(A) 080 L (B) 10L :
(Cy 065L (DY ©5L

GiEl L & @ dag ©

AT
. The member of roof truss which supports the purlins is called as: @

(A) Sag rod (B) Main strut B
-(C) Principal Rafter (D) Principal Tic
od & BT g% B ol ufel= &1 weRr dar @ ST B
(A) sileREl ws (B) wgE €&

(C) Y59 uIR& (D) T= EHASE (@®)

As per Indtan standard specrhca:tmn-s concrete should be cured under a ">

humidity of @

WWW%WWﬁ%m(ﬁ)ﬁW

{(A) 10% B) 50%

(C) 75% «(D) 0%

In a singly reinforced beam, if the permissible stress in concrete reache
earlier than the permissible stress in steel, the beam section is called: @
(A) Under reinforced section =(B) Over reinforced section .

(C) Balanced section (D) Economic section w_w_,
THel o9 9 ydfera o d ufy e ¥ e ot s« &

ufree 9§ 98l Ug" WAl § O S s uRWBT (P) BT HEA
(A) = ufdga aR=ow @) afy ufdss aR=g=
(C) wgferr af=de (D) firaern 9iR=sg

For the deflection of simply supported beamn of 8 m span to be within
pérmissible limits, the ratio of its span to effective depth should not excee

aﬁaﬁﬁ%%mﬁﬁmmﬁmmmzﬁm

& o fBAsgf &1 vy TEern & aRi SFaRr PRt S &% FBI s

= (6 o

(A 7 «@B) 20 50O %

(C) 26 (D) 8 2
EJE-2015 / II_A ] ' > [ PT.O.
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8¢ Shrinkage in concrete slab @
@ (A) Causes sheer cracks P @ Causes tension cracks g’:\\
(C) Causes compression cracks (D) Does not cause any crackin %

e w9 A famsd 9 o g &
+ (A) wAT IR B) T &R
(C) ¥Hdrsa v (D) HIE TR =Y
81  In order to avoid sliding of masonry dam, the force of friction between the
dam and soil should be at least the total water pressure per meter

length - . : \
(A) Egual to AMB) 1.5 times ' @)
{C) Double @) 2.5 times

Wmﬁm(ﬁ%ﬁ%m}ﬁaﬂﬁ%%ﬂ,wﬂaﬁaﬁ%aﬁaw
FT 0 BT B ARy ¢ MNex ¥ ugaa ot o) em B ———
(A) aRER (B) 15 AT
L) g D) 25 AT

The diameter of longitudinal reinforcement bars of a RCC column should
@ never be less than:

3

=y |

(A) 6 mm : B) 8 mm (L

(C) 10 mm e(D) 12 mm

A reinforced cement concrete beam can have maximum area of tension
¢4 reinforcement as

(A) 0.06bD (B) 0.02bD @

(C) 0.05D »TD) 0.04bD & ®,

Where D = overall depth of beam
b = Breadth of beam _

HHaT a:
(A) 0.06bD (B) 0.02 bD
(C) 0.05 bD (D) 0.04 bD

ﬁD:Wﬁwm.bzwﬁm

he minimum size of one side or diameter of column in reinforced cement
concrete structure to make it earthquake resistant should not be less than
UG AT ARga & HH A8 87 =fad:

(A) 290 mm ® §B) 250 mm
{C) 300 mm (D) 350 mm
EJE-2015 / H_A ] 14 [PT.O
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@ The spacing between two successive stirrups (hoops) in reinforced cement \Z
. concrete beam shall not be less than: @

gfera Ofe oahie e’A # 31 AR &id fHer Rewl) & §fia & @@
............. I HH ASL sFT =Ed:

®
(A) 100 mm A D<(B) 125 mm st .}e*f*‘ . ,()b\
«© 150 mm . 175 mm ot

6 The concentration of organic sohds in water to be used in remforced cement
concrete contraction should not be more than:

gyaferg e safic HRIT 8§ I9ANT A J OF gt 9§ HEfe B

B AT A s TE B afR: 1Be>
(A) 50 mg/L B) 100 mg/L @ -

(C) 150 mg/L& .e (D) 200 mg/L

\/87 According to Whitney’s theory, ult1ma1;csﬁ_!,r_m_n_ of co1
' @ﬁu%ﬁmaﬁamm&ﬁﬁaﬁw}ﬁﬁwmm
o (A) 0.03% ®B) 0.1% .(-.ﬁ
(€) 03% R~ ®) 1% -

be

As per IS 456-2000, formula for calculation modular ratio is-
IS 456—2000 & JITHAR HAGIH I A BT BT GA 8- @

280 Z800
A : 7
W ‘_( ) 'B'O-cbc ' ®) 3Gcbc @
" 3a,_, 280
© 30 ®) o,

89 As per IS 456-2000 thickness of flat slab should not be less than
IS 456—2000 & ITER, TGC! e ¢ Hierw Fraifea @4 o3 =8 8

=nfag— @
(A) 15 cm Qe@B) 125 cm
(C) 10 cm (D) 8.5 cm
In design of cinema hall width of Tread is taken as- @ﬁﬁ@
DK(A) 25 to 30 cm M) 30 to 50 cm : 250
(C) 50 to 75 cm (D) 90 to 110 cm ﬂ'
o s 3o A U & dsE <l W 8-
(A) 25 ¥ 30 99 B) 30 ¥ 50 I '
(C) 50 & 75 9T (D) 90 A 110 I
EJE-2015 / H_A | 15 [PT.O.
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Due to end of circulation of shape or design of property is known as

) Uncirculation (B) Distress value )
(C) Salvage value (D) Scrap value
mmﬁmmmmﬁmwwﬁm
(A) Jvga— (B) HPpe Hod (Distress value) ©
(C) ®HaE JoH D) ¥ oA

&

In Building construction, for one-time surcharge for Electricity and water I @
added for the cost of % total cost of building.

mﬁﬁﬁwﬁﬁgﬁaqﬁa%qmwa%%qmwmm
...... % SireT Siar ¥

(A) 12% (B) 10%
©) 8%h- o D) 5%
93 In masonry works, while domg Rate Analy51s water-surcharge is taken as
P Fi e i
(A) 10% (B) 5% )
(©) 3% e (D) 15% N\
94 If the fore bearing of a line AB is 35° and that of line BC 15°, then the .
included angle between the lines is ;
afes g AET AB WWW%“%@QWBCWW
15°a‘r?-rra‘=|‘fa‘:nwasranaﬁasm€nngg . -
(A) 20° @) 500 O 5 | Q
) 16009 D) 230° > R\

=

As applied’ to staff readings the correction for curvature and refraction are

respectively ;
s, @)
(€) + and + (D) — and —

Star & T urgmis #® et fear wTEn ®) ampar ¢d Rbemra &1 grIN
wHE: B

(A) + 3k — B) — 3Rk + S
C) + 3k + ®») — AR —
The suitable contour interval for a map with scale t 10,000 :s
O AR T W 1110000 B G ux wlew Yer o Q
e (A) 2m by @) Sm §
() 10m @) 20m

@

Least count of ‘Pnsmatlc compass’ is P

(A) 1° - @) 15 %:;
- (©) 30 @) 45 @ L

EJE-2015 / IILA ] 16 [ P.T.O.
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98 Minimum Angle between axis of weir and canal head regulator is

fFav 9 & Frage & et B da [PEaE doT e ———
(A) ©0° A) 90° %-
(Cy o60° , 3 (D) 120°
@ A canal constructed normal 1o contour lines of area is called
(A) Contour - canal A B) Watershed- canal @
(C) Side slope canall) - (D) Single Bank canal N
au B wHEE W B IAffers g TR e ... FEArh &
(A) wHI= AR (B) AT AEY
(C) TN @A =987 (D) TUdHd dac 87
| Hydro science (Hydrology) cycle is denoted by equation
g Sl Qs = WHIOT gWRT g9iar  STm %i
e (A) P=E+R i _ (B) P= E-R @/
(C) P=ER (D) P=E/R
10 The height of Tsunami’s wave depends upon
{A) Monography {B) Seismography
(C) Local Topographﬂ/ (D) None of above
AR T @ A oY iR Hl B
(A) mwlﬁ «(B) Ruimmm
(C) Wi STy D) T A g ABI
@ ‘Tower’ is made ;
(A) For floating bridges. (B) For swing bridges. 4 _-
(C) For archery girder bridges (D) For dot bridges.
TAT ... FAA ST B
(A) T gar & fag (B) s gl & fag
(C) = e IS gya & fog (D) Sie yai & faig
83 Penetration test on bitu is used for determining its: é .
= (A) Grade . (B) \Viscosity '
(C) Ductility (D) Temperature susceptibility
g ar 9ga gdewr Far omar 8, swad fAEitea Peem @FuiRa)
FHEA BG
(A) =N (Ffiewo) (B) =I=dl 1 Q_
(C) O=gar (D) . aTUsHH—IfEaT 9 2>
164 Slope of village roads should be usually less than @ 9% 5
@ g = FSHT W W ST o H A BT B
(A) 1in 12 & (B) 1in 10 N Y4
(© 1ina (D) 1in3 %,
we s OO T A 3
EJE-201S /N_A ] et 17 dﬁé o ef [PTO. —
=22 s>
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(1] The Thickness of ‘Domer’ laid

1
/(A) 5 to 10 ecm )

e Sfmfis / CIVIL ENGINEERING

(C) 1to2cm (D)

2 to 3 cm
0.5to 1.0 cm

Olfagnh weat % =P RwE owa @ Tt .
(A) 5 9 10 I B 2 I 3 TN
©) 1 9§ 2 9% ' ) o5 | 10 N

%

One degree of curve is equivalent to
U I PHT P5p S@ER BRIT &

1600
(A) @ ®)

R
1750

) ®)

&

Where R is radius of curve in meter

SHefh: R Wew d 9w @ Broar 2

1700

Bottom most layer of Pavement is known as-

(A) Wearing course (B)

(C) Sub- base cousrse » (D) Sub grade
Yoorart &1 weS sErdelt (od) wer omar &

A) a3 o B) IER Y
«©) QU—IIR B : D) SUis
The specific gravity of Sewage is-

oads)- layer in ‘Bitumen’ Roads is-

LS

-
1800

Base course @

s
Slightly less than 1®

‘@ (A) Much greater than 1 (B) @
(C) Egqgualto 1 e (D) Slightly greater than 1
Wasi &1 fafree oveg BT &—
A) 1 W 989 3IfRw ®B) 1§ ST »H
©) 1 & SxXEY (D) 1 | ST S
102_ Standard B.O.D. is measured at %,
: (A) 20°C - 1 day (B) 25°C - 3 day @ Q
e(C) 20°C — 5 day (D) 30°C — 5 day N
AEE L3 &L W Wa B 38— )
(A) 20°C —1 fam (B) 25°C —3 fe=
©) 20°C —s fa= D) 30°C —s fa=
\)4’0 In sewer line, at 12 o’clock of day, flow is approximately of
/@ average glow. .
> (A) Half (B) Equal @
(C) Two - time (D) Three - times
ﬁaﬁmﬁ%%mﬁ%mm,@ﬁ’mﬁ ................
8 &
(A) 3= (B) TEE
©) =1 g D) W g
EJE-2018 /1_A ] 18 [P.T.O.
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\/‘H‘l Moment of Inertia of circular area having diameter ‘D’ about the axis is
passing through the center of gravity.
& D = B PR STEA BT YA dw G bl grell 3@ 9R
Sedar gef BrT—

- x - D* @ - D* X
A) e (B) a8 %
r - D* c ; r - D4 ©
o © 64 ) 12
‘/er The group of forces, whose resultant is Zero, is called _
@ .«(A) Equilibrium force (B) Coplanar force @
3 (C) Collinear force (D) Concurrent, force -
o gt & Je &1 IR @ LTI B A8 e hESAR B
(A) HFIERIT (B) wHAOST I
(C) RE 9« D) [ T

\/H3 Two equal- and opposite direction forces ‘f” acting, and then value resuiting

force will be-
ST WA 9 Soid) e # o™ A i g9 () & aRvmh 9@ w1 "7

31;11_414 f @) 2f @ \K

«(C) Zero/ Y (D) 0.707 £
The moisture content in a well seasoned timber is-
(A) Zero B) 5to 10% ) _
@ e (C) 10 to 12% M) 15 to 25% @ @
Al USHR Ohls A Ibel H oiehiel @1 HIET By 8-
(A) o= B) 5 | 10%
(C) 10 ¥ 12% (D) 15 | 25%

\J,IS/As per IS 269- 1975 initial setting time of ordinary cement is~-
(A) 15 minute . s (B) 30 minute @ @
{C) 60 minute (D) 75 minute ,
IS 269—1975 & IR TAMRU AT & uRfHa sHEdsa 8kar 8—

(A) 15 &=e (B) 30 f&=e

(C) 60 fA7c (D) 75 =T
H6 When the plastic limit of a soil is greater than t iguid limit, then the
@ plasticity index-is reported as: ' ' oy 7

(A) Negative e« (B) Zero fg CL/‘P

(C) Non — Plastic (NP) oM 1
oW T & gucd Wi, SES wadEn 9 AP 8, O gucd gahis

BT &
(A) ZHAYHP : (B) ?I:'W
(C) Iguc3a : D) U=
EJE-2015 / I_A ] 19 : [ P.T.O.

www.diplomagovtjobs.in



s Shitmftn /7 CIVIL ENGINEERING
Z_ The minimum depth of foundation in clayey socils is >
Hha ) IRTFGR Fgarit # Ao & =Eawn e 2 2

(A) 0.5 m A\- B) 0.7m O\
(@) 09m S @) 1.20m @ ’

it Putty is made up of
cﬁ (A) White Icad and turpentine
\_}",B) Powdered chalk and raw linseed oil
(C) Red lead and linseed oil ) b,
(D) Zinc oxide and boiled linseed oil
gyodt AfFa o o &—
(A) T w% W\l Td arRd" @1 9 O
®) Tl WS wd woar e w1 de 9
(Cy </l M9 Ud Il &7 o O
(D) e NTuss vad I9aT IaW =T a5 @

119 The sloped roof which is sloped in four sides is calied as:

@ (A) Shed roof " (B) Gable roof £
e {C) Hip roof - (D) Mansard roo
I8 @I BT SIf aRl 3R @rel BRW B .. ... . @E wEr &)

(AY TS (shed) wa
(B) Rigm wa (gable roof)
(C)" Y=3TR T SIS wa (Hip roof)
(D) Terd v (Mansard roof) i
@ The slump test for finding out the workability in concrete the maximum size
b of aggregate should not exceed.

@ «(A) More than 20 mm = &B) More than 38 mm '
(C) More than 40 mm (gg (D) More than 53 mun =~
Pblc H gerdar & 3y T H fBeEt w1 wfSeeas a@g 98
BT EfEg-—-
(A)Y 20 mm 9 IS (B) 38 mm ¥ afde .
(C) 40 mm < <= (D) 53 mm | 3ifSs
_/1/21 The most familiar form of Bernoulli’s equation is-
@ Seelell wHeRor 1 Wew e wufaa g 2 /“
P 1’2 p 12 Coc
1 - _ 3
(B) iap--i—g-dz—i-v-dv:O -
P 12
_XC) w b Z + 2g | any section = constant head / f#i we 9w = fer Rrd
(D) None of these / 899 § HIF =81 &/
EJE-2018 / Ii_A ]} 20 [ P.T.O.
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iz A rectangular beam of length ‘L’ supported at its two ends carries a central

point load ‘W’. The maximum deflection occurred
(A) at the ends

(B) at L/3 from both ends .7 e

. (C',:; at the center ' ’r::ﬂ)\ .
(D) None of above
UPh INMTIRPR eRkA orrd L W1 AR v anafea & afey g wr
'Woggqd &l 8| aiffsan fagg 8
(A) a0 ux ‘
(B) ¥ & ¥ L/3 @t ¢ o=
©) &g H
(D) SURKRT A F HE 80

123 If, the diameter of rivet is 25 mm or less; diameter of rivet hole will be
w than the diameter rivet. 7
: \/(A) more than 1.5 mm (B) less than 1.5 mm

(C) more than 2.0 mm (D) Equal a% ,
Rde &1 =g 25 . a1 399 &9 89 W fow @1 = Rae
@ @rd W . BITT |
(A) 15 9 & aifees ®) 15 fph F &=
(C) 20 R | afaw (D) \HE
/ 24 In general the depth of Plate girder is kept as . of span.

(A) 1/5 to 1/8 (B) 1/8to 1/10 @
@ (C) 1/10 to 1112~ ®) 1/12 to 1/16 i
WHATYGT, ©@¢ TEY & TEs AT SHag Wl Ot 8 e & o=y &1

(A) 1/6 & 1/8 (B) 1/8 & 1/10
) 1/10 | 1/12 D) 1/12 ¥ 1/16

128 Tensile strength of mild steel ié-'@
@ (A) 1400 to 1800 kg/cm?
Y

\;f
\ ot

(B) 1800 to 2500 kg/cm2 R~
«(C) 4200 to 5400 kg/cm?

(D) 5500 to 5700 kg/cm?

g gwra @ a9 amed Bl 38—

(A) 1400 & 1800 fFHuT /dH2
(B) 1800 W 2500 fHur /a2
(C) 4200 | s400 THUT /A2
(D) 8500 &V 5700 fFHuL /TR
EJE-2015 / II_A ] 21 . [ P-T.O.
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ym adiabatic process in a thermodynamic system is one itn which there is?

(A) Limited heat transfer to or from the system through the boundary.
JB) No heat transfer to or from the system through the boundary.
(C) No internal energy change.
(D) No energy transfer to or from the system through the boundary.
Udh SHWHEN®E aF @ SaidH UHhH H aar 8iar 827
(A) OREMT g=1T 93 # O 93 | Ifaa e ey
B) AT gRT &3 # G dF QA SHT BT BIE WFATONU] TA8T
(C) a3 # 31F e Sotr alRkads =8t
@) alRBFT 89 T H AT da QA Hholl BT Pig R0 8l

2 The difference between the actual temperature of superheated steam and
saturation temperature corresponding to its pressure is known as
(A) Degree of saturation (B) Degree of superheat
{C) Dryness fraction {D) None of these
IfT g HI9 B I3 YA T SHD G D 6T I drgHE
BT IRR PEAIT B

(A) wgwar @57 S B) gudEe &1 W
(C) espaier D) 79 & TE T8
3 The type of coupling used to join two shafts whose axes are neither in same
straight line nor parallel but intersect is :
(A) Flexible coupling « (B) Universal coupling
(C) Chain coupling (D) Oldham’s coupling
Pufer, rasT SUIRT I S9e BT Sire A Bar oiar & < 5 9 or
el Y@ # 8 9 9 U gER P |gHaR it e s’ U gER @
wiea 8
(A) voiIfrgse wufeir (B) Ifgda wufa
(C) == HufeT (D) 3Icged HafeT
4 Which of the following is extensive property?
. (A) Pressure (B) Temperature
¢ {C) Volume {D) Density
o1 & fawga fAdewr o9 & & 7
(A) <19 (B) <maHTEA
(©) 3IImaa (D) =19

] For specifying the state of superheated vapour, one needs:
(A) Pressure
(B) Temperature
(C) Pressure as well as temperature
(D) Specific volume

sfage arg & gol fQavor & faw fFEadh seva &<t & 2

(A) T9 (B) dag
(C) ™ AR dMI AT (D) fafkme amaasa
EJE-2015 / ILLA ] ‘ 22 [P.T.O.
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6 In a gear drive, module is equal to
(A) 1/diametral pitch (B) I1/circular pitch
(C) Circular pitch/x (D) Diametral pitch/
frar s #, dAlgge @7 9 e @
(A) /=g fag ®) 1/90a g
(©) Tom RE/ n ®) =da =/ n

7 For which of the following substances, the internal energy and enthalpy are
the functions of temperature only?
(A) Any gas (B) Perfect gas
(C) Water (D) Saturated steam
frfoiRaa & ¥ s el @ g aaRe oT a3k o ¥l dasd duq=
® o B B ? '

(A) >Ig W A ®) amed =\
C) <= (D) Hg AT

3 According to kinetic theory of gases, the absolute zero temperature is attained
when- :

(A) Volume of gas is zero

(B) Pressure of gas is zero

(C) Kinetic energy of molecules of gas is zero
(D) Mass of gas is zero

N @& e Rgra @ JgER W=RE g dUEFE BRI 8, STd—
(A) T FT AT LI B

B) N &1 AW oA B

©) 9 D IR A RS FHorr g B

D) T &1 F@HE g B

9 For simple Harmonic Motion of a cam follower, a cosine curve represents
(A) Displacement diagram (B) Velocity diagram
(C) Acceleration diagram (D) All the above
WA JEdg Y Ha gu BH widar A, »ifRkm uw gafRfa sRar 81
(A) fa=ngs s &1 B) AT B JARE BT
(C) TaYUT IRW BT D) T JA W B

10  First law of thermodynamics furnishes the relationship between
(A) Various thermodynamic processes
(B) Heat and Work
(C) Various properties of the system
(D) Heat, work and properties of the system
SIS BT UsAT EH "R SuSs Bl 8—
(A) fafr= swrfas usHl & 9=
(B) T 3R HE @& d=
(©) 3 & a1 omET @ 49
(D) =1, o 3R 3 P PoRMET B A

EJE-2016 / I_A ] 23 [ P.T.O.
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Change in enthalpy of a system is equal to heat transfer under foliowing
condition
(A) At constant temperature (B) At constant pressure
(C) At constant volume (D) None of these
frar e o odaf § aReds s aRfert § gf wn sersree
& FET BEI

(A) ReR gaaE uy B) Rer g9 ux

(C) RewR amaos v (D) 5787 § H1EF =98
12  Spring stiffness is -

(A} Ratio of coil diameter to wire diameter

(B) Load required to produce unit deflection

(C) Ts ability to absorb shock

(D) TIts capability of storing energy

(A) FTrsSell TAT R P ATH BT Ui

(B) Ui @enga & forg smazsgs W

(C) =HFHT v @59 & graar

(D) ST Tsfa o & aaar
13  The latent heat of vaporization of a fluid at 190K is 2560 Kl/kg What is

the change of entropy associated with the evaporation?

100 BT oY TP 97 B gruT [@ FT 2560 KI/Kg & amsgT G wvaag

U=t afRRads T & ? "

(A) 6.86 KJ/Kg-k (B) 256 = 103 KVKg-k

(C) 25.6 KI/Kg-k (D) --25.6 KI/Kg-k
14  In an isothermal process, the internal energy

(A) Always decreases (B) Always increases .

{(C) Increases or decreases {D) Remains constant

HAAY UsbH #H, I=<afs Hol—

(A) 8&a9r ge A 8 (B) BHET 98 Aidr 2

(C) A 3=@ET el B (D) 3aRadfia = 2
15 A screw is specified by

(A) Major dia X pitch (B) Minor dia x pitch

(C) Major dia x length (D) Mean dia x pitch

Ub 99 B FS ualia @ omh &

(A) @9 o < Q= (B) &Y amw x fuyg

(C) <19 =ard x o ers (D) == o x fom
16 Change in entropy for reversible adiabatic process is

(A) Positive (B) Negative

{C) Zero (D) Positive or zero

uﬁaﬁamnﬁmiﬁﬁﬁmmqﬁaﬁq@mﬁ_

(A) EFTRHSP (B) FHUIHP

(C) Eika) (D) =eFE = W R A2l
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17 Kelvin -~ Plank statement is applicable to

(A) Heat Pump (B) Refiigerator

(C) Heat Engine (D) None of these
BT @rp HF e B aw 9 &)

(A} ST g (B) IBioRex

(C) SFwET IO (D) S8 ¥ H1E &

18 The ratio of lateral strain to the linear strain within elastic limit is known as
{A) Young's modulus
(B) Bulk modulus
(C) Modulus of rigidity
(D) Poission ratio

qw&fﬁmﬁ%ami@uﬁmﬁwwymwwﬁmﬁmﬁmﬁ
(A) 7T AT

(B) §oF #HrsgawH

(C) #r3yeryd gea &i

(D) giyerd  FHUR

19 When wet steam undergoes adiabatic expansion then
(A) its dryness fraction increases
(B} Its dryness fraction decreases
(C) 1Its dryness fraction increase or decrease
(D) Iis dryness fraction remains constant
ST 3T Y &7 BETH Ui 8 8 ar
(A) T=Hais ggar &
(B) w=idmN gedr #
(C) THSDI FEHAW OC UGl ¢ HPpar &
(D) THHT IAEhA HRF Isdar &

dQ .
20  Relation ds= Wk holds good in case of :

(A) Reversible processes only

(B) Irreversible processes only

(C) Does not depend on the reversibility or irreversibility
(D) Alt reat processes

dQ .. . ;
] dsz—},?-,f%swﬁufa H w8 8T § 7

(A) &Haa AT wHy

(B) FTT& IFSHHONT WHH

(C) Sopavfar a7 sgopavilaar v ik =8 &
(D) N J<fds uHH
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In V belt drives, belt touches .
{(A) At bottom (B) At sides only
(C) Both at bottom and side (D) Could touches any where
V- 3THR T gceT el Har &
(A) g fAgsh wa=s 9@ B) T B FHT g HaE A
(©) - o 9T 9% Hos 9 (D) FTE 90

Critical pressure for steam is
"9 & e mifde gm feasr Sar &a—

(A) 184 bar (B) 163 bar

(C) 252 bar (D) 221 bar

Change of entropy depends on

(A) Change in volume (B) Change in specific heat
(C) Transfer of heat (D) Change in mass

voert &1 gfRad=ss R swar &
(A) 3T & gfRkada ov B) ffftse T & gRads ux
(C) TS & WRIHEIER0T ¥ D) wHHAH @ yfRads ux

In order to balance the reciprocating masses

(A) Primary and secondary forces must be balanced
(B) Primary couple must be balanced

(C) Secondary couple must be balanced

(D) All of above

IR FHHA DT Hgfelad & @ fag

(A) s o dS@vsS 9o wgfera 8M =nfav
®B) urifes = EHyfera - =ifac

(C) Wovsd # wdfaa =T =ofag

(D) T | Wi

25 For specifying the state of wet vapour, one needs
(A) Pressure
(B) Temperature
(C) Pressure, Temperature
(D) Pressure, Temperature and one more intensive property
A< gy @ gol f@geer & fag A &1 oiewa 81 &
(A) =
@B) 9mH
(C) == Q9 dm
(D) <, a9 T ¢H G T8 f{esar
26 Function of carburetor is to supply the following
(A) Only petrol (B) Air and petrol mixture
(C) Petrol and diesel mixture (D) Air and diesel mixture
BENCSY DI HE T uam wET &
A) NF I B) T T VDA BT fAsoT
(©) g e IS BT PAsor (D) ag dur Srore BT fAsor
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27 Governor sensitivity is the ratio of
(A) Range of speed to the minimum speed
(B) Maximum speed to minimum speed
{(C) Mean speed range of speed
(D) Governor lift to the range of speed
TR &1 HagEerar g9 grxil &
(A) 1 & uRRgcds AHT 92 91 BT JEgsE
@) H¥epas a1 T =gaad 9T
(C) T &7 ¥F=gda= aual 37 &1 aRkgacs Ger
(D) #ER &) foge aem 991 & aRads @=Er
28 For air standard Otto cycle
(A) Compression ratio is more than expansion ratio
(B) Expansion ratio is more than compression ratio
(C) Compression ratio is equal to expansion ratio
(D) Cannot be compared
JIY AFE INMST GH A
(A) ¥HYrSH U, WER Igurad 9 3fae Sar &
(B) ¥HIST 39O, TR IO ¥ HH B8R B
(C) 9HHST UgUK, Y¥R JGUKT § E§HE 8T 8
(D) g1 S8 8l
29 What is true for heat engines?
(A) Efficiency of all engines is same
(B) Efficiency of all reversible engines is same
(C) Efficiency of all reversible engines working between same temperature
limits is same
(D) Efficiency of all engines working between same temperature limits is
same
FHSAT ol @ g T\ #2
(A) T 3=~ @7 Sgrar a@HE B ¥
(B) w0 ufitadia ol 95t ssanr w9\ Exit &
(©) HaE U ERll & 7o SHIRIEe giadia s=<3a1 9 7T 99
By &
(D) \HFE dHEE SRl @ = HRIdd 3o @ g8al 9 A sl 8
30 The stress in disc type flywheel as compared to rim type flywheel is
(A) Equal B) Less
(C) Greater - ' (D) None of above is true
foF & ave aree =6 A R & ameR & uros 9% & IHEa gfasa
=i A :
(A) "RER Brar B8 B) FHH Brar &
(©) frp s1ar & ®O) s A g wE A8 8
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31 Which of the following is not an internal combustion engine?
(A) 2 — Stroke petrol engine (B) . 4 — Stroke petrol engine
(C) Steam engine (D) Diesel engine
fFrafeifRas & & 9 ar siadss go= =& & ?
(A) 2-§%p agra g9 B) 4= AT T
(C) =#I9 S D) IJIrada s+
32  Objective of Supercharging process is:-
(A) Providing forced cooling air
(B) Supplying the intake of an engine with air at a density greater than the
density of the surrounding atmosphere
(C) Supplying compressed air to remove combustion product fully
(D) Injecting excess fuel for raising more load
AAICT UHH HT Igavy & —
(A) uoifea o= Iy Sud=sr s
(B) A o & ITUE B SH AT UX G BT IR BHET G
Rl argFse @& TEcy G IS B
©) aﬁwﬁaﬁ@mﬁﬁmaﬁ$%qﬁtﬁ%ammw‘mw
(D) 3gfF “R Ios™ B 30 3 S99 &7 IiTafasT ST
33 The property of material by virtue of which it can be beaten or rolled into
plates is called
(A) Malleability (B) Ductility
(C) Plasticity (D) Elasticity
gerR] &1 98 T fOrEd S Nesy Jwar IEHY Ul GiSe # gaET i
Hpar )
(A) ®EeTar @) a=gar
(C) wnferady ' (D) yAT=RIar
34 The process of removing the burnt gases from the combustion chamber of
the engine cylinder using fresh charge is called
(A) Supercharging (B) Scavenging
{C) Knocking (D) Detonation
A TSI BT GANT RS FIT D AfAvSR B g et | ot gf aday
BT BT BT Ufshar HEandy 88—
(A) arfemeT (B) 3gHTSI
(C) 3Impres (D) ISR
35 The fluid in the petrol engine (S.I) during compression contain
(A) Fuel only (B) Fuel or Air
{(C) Air onlv . (D) Mixture of air and fuel
9E §or 49 Wdew @ AW O ¥ @ Bar § ?
(A) @as S B) T JRiET @Y
(C) @as gy (D) T TAT g BT Asyor
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36 A beam of length 1, having uniform load of W kg per unit length, is supported
freely at the end. The bending moment at mid spam will be
U =RoT foraat o / & e forw av ufey uaies a1 R W kg BT
TR B e R gRT @ g 8, B f¥sg gv affsir Hre @1 8| S
wi wir?
(A) 3 (B) >
2 2
© X ® -
37 In diesel engine, the suction contains —
(A) Fuel only (B) Air only
{(C) Air or Fuel (D) Mixture of air and tuel
rota oA H frwast guur sar &
(A) Has FeH (B) dad 9y
(C) arg 3im@ar gu+ (D) ayg aur guda a1 s
38 The efficiency of Camot engine depends on --
(A) Type of engine
(B) Working fluid
{(C) Temperature of source and sink
(D) Type of fuel used
o @1 wmianr iR ey #-
(A) ST & IFR 9%
(B) =l uar! ux
(C) =T 3fw sifna @& TuETHT OR
(D) ugaT S99 H UHIK TR
39 In a design of key, shaft, and pulley
(A) All these are designed for the same strengih
(B) Key is made weaker
(C) Pulley is made weaker
(D) Shaft is made weaker
e, 4ol g=r e @& afteseus H
(A) HET o Il T W R 8
(B) &5 &1 wped W Wl W #
(C) geft 35 appd oy @ ot &)
(D) wnge & wmed Hy & A F)
40 In diesel engines, the duration between the time of injection and ignition, is
known as’
(A) Burning period (B) Ignition period
(C) Delay period (D) Pre — ignition penod
Sra@ o W oy @y i wwess @wa @& @ @ watr v san e
AT & °? ‘
(A)  TOST Frel - (B) wSaST BT
(C) fassg w@ (D) Yd—wsaad HTA
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41  Fusible plug for a steam boiler is an alloy consisting of bismuth, lead and
(A) Copper (B) Tin
(C) Zinc (D) Aluminium
A9 & AR BT WTATIY ©FT U stEnng o1 997 ST € |, R e
e sk P § g fer Sar & 7
(A) disr ®B) fe=
(C) e ®) egfafras
42 100 KW power is to be transmitted by each of two separate shaft A is
turming at 250 rpm and B at 300 rpm Which shaft must have greater dia?
(A) A (B) B
{C) Both have same dia (D) Unpredictable
ST AT WS FRT 100KW wfda wailRa & ol & snoge A 250
TPm AT WAMGE B 300 rpm & gH 87 §| fFy v &7 =9 3D sSFm—
A) A (B) B
(C) QHET §9H & & 2R D) JFHHE 98] ST ST "l
43 1 Ton of refrigeration is equivalent to —
1 9 wllasa o= 3 fosaas a=may &
(A) 3.5 KW B) 1 KW
(C) 2.5 KW (D) 5 KW
44  What salts of calcium and magnesium cause temporary hardness of boiler
feed water?
(A) Sulphites (B) Nitrates
(C) Bicarbonates (D) Chlorides
%mq@vﬁ#ﬁan%ﬁﬁamﬁ&mmuﬂwwﬁm
HBORAT BRIT & ?
(A) wTFIES @) TERc
(©) IESEHE D) FARTSS
45  If the Shear force is zero along a section the bending moment at that section
will be
(A) Minimum (B) Maximum
(C) Zero (D) Either maximum or minimum
uﬁ:ﬁwﬂaﬂewaﬁhwwqﬁvﬁxsﬁa}wzﬁﬁwwﬁw
HF BRI
(A =aH (B) sifErmaH
©) = (D) BT a1 gAaH
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46 In impulse turbine, pressure on the two side of the moving blades —
{A) Decreases (B) Increases
(C) Remains same (D) May decrease or remain constant
T eXgis H I Bhadl B ST gedl 9X gE—
(A) HH B FAT B (B) g oiar §
(C) w=H@a I=dT 8 (D) HH 8 ofar & ar R wsar 2
47 A bell Coleman cycle is
(A) Reversed Atkinson cycle (B) Reversed Joule cycle
(C) Reversed Sterling cycle (D) Reversed Carnot cycle
I BIATT TGEH B
(A) =gopd CefEr—aa = (B) YobH G WH
(C) JopHH Wi = (D) IhH BR-AE Gm
48  Shear stress on mutually perpendicular planes are
(A) Zero (B) Maximum °
(C) Equal (D) Minimum
49 For maximum discharge, ratio of the pressure at the exit and at inlet of the
nozzle (P,/P,) is equal to —
A faws & e <& & el R s\ (P,/P) 9R T@ @7
IUT fraw sv@my #§ 7
(A) [2/(n+1)]Va*D @) [2/(n+1)]@Dn
©  [/An+1)]¥e-D (D)  [2/(+1)Je+Din
S0  Curtis turbine is an example of —
(A) ’ Pressure compounded impulse steam turbine
(B) Pressure — Velocity compounded impulse steam turbine
(C) Reaction steam turbine
(D) Velocity compounded impulse steam turbine
HfEH TIqRA TH IS0 & '
(A) <E HOIfSa amaT AW eXEsa &T
B) TE—IT HIATHIT 3INIT 9™ SXgisd BT
(C) vufaferar w9 exa=ma &1 '
(D) 7 FDRET JET HI9 ST BT
51 A coil is cut into two halves, the stiffness of cut coils will be
(A) Double (B) Half
(C) Same ' (D) None of above
TFH Husel DT &7 §ER A/EIT H ars g onar 81 @ 52 ) @ getar
8 SRR
(A) g B) aEh
(©) =+ (D) T | +Ig A8
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52 A device used to increase the temperature of steam without raising its pressure
is called:-
(A) Fusible plug (B) Pre heater
{C) Economizer (D) Super heater
W%&Wﬁﬁﬁ%ﬁmwaﬁwﬁa}ﬁmmzﬁmﬁ
arel gfda &) «ar w8t onar & ?
(A) T wET ®B) vydagm
(C) A= (D) 3ifa Tus
53 Maximum efficiency for a single stage pure impulse blading (symmetric)
with nozzle angle ‘o’ is
S POt m-mémwﬁg@mww(ﬂnﬁa)zﬁﬁwmﬁ
THOH garar &
(A) cos o (B) cos? o
= 2 | =
(C) cos [2] (D) cos [2]
5S4 A large cylindrical vessel was sealed in summer. What is likely to happen
to it in winter?
(A) Nothing (B) Explode
(C) Buckle & Collapse (D) Become lighter
wa@aﬂmmmﬁmmgﬁ%ﬁmrm%lﬂﬁamgﬁw
R WHIG 9&IT |
(A) HB F&I . (B) W
€) ST (D) BFHT B QT
55  Which of the following is a high pressure boiler?
(A) Lancashire boiler (B) Cochran boiler
(C) Benson boiler (D) All of the above
1 4 & 91 S=a g@m W et & 2
(A) THRTER FIUER (B) FHHIA IO
(C) T\ «UaR d) TudET A
56  Expression for the specific entropy of wet steam is —
HE A9 P fafree =0 @ farg g #-
. L
(A) s, + xsp B) he+ xo=
L
(C) sp+ XSy (D) sp+ x?
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Weakest section of a diamond riveting is the section which passes through
(A) 15 row
(B) 2™ row
(C) Central row
(D) One rivet hole of the end row
sores R 3 wed FHWR Hic 98 B B Wil o R
(A) wom dfadd &

(B) fgfhw dfem |
(C) &g & ufxa |
(D) T RfAe @1 B oh anRed ik § &

The specific speed (N,) of a centrifugal pump is given by-
AuBE W 9 fRfdnme TR (Ng) A fead grRT Iarg ol 8§ 7

NJO NJo
(A 7% (BY —5ra

NJo NyO

©) —7 (D) 7374

H2

Impulse Turbine is generally fitted —
(A) About 2.5 meters below the trial race

(B) Slightly below the tail race

(C) Little above the tail race

(D) At the level of the tail race

AN oxETEA, WETa: Hal g IRi & 7

(A) P @ e 25 diex W ‘**.,:73"-’
(B) fRwEskH & ot

(C) fauskit I e WY

(D) faefN & Wy W

Solid and liquid have

(A) One value of specific heat

(B) Two value of specific heat

(C) Three value of specific heat

(D) No value of specific heat

o d=ur T yary @ f[Afre Ssal

(A) U©&H &1 Bxft 8 (B) 1 BN
(C) @4 8N & (D) =81 8k &
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61 The degree of reaction of a Kaplan turbine is:-
(A) Equalto 1
(B) Equal to 180
(C) Greater than zero but less than %
(D) Greater than }é but less than 1
DA eXasa o IfARfFar I oa=r E-
(A) 1 & e
{(B) 180 & «@¥
© = ¥ I g Y & @m
D) 1 X B9 g % ¥ arfer®
62 Pick up the wrong statement about centrifugal pump
(A) Head is proportional to speed?
(B) Power is proportional to speed?
(€) Head is proportional to Diameter?
(D) Discharge is proportional to Diameter
BT T B IR H AT HYF P AT B ?
(A) ¥, wifa?2 &1 g &
By = w2 F SEgaRht B
(C) ¥, =9 +H1 FEEgURN ¥
D) fausH, = &1 'SH garn &
63 Internal Energy is a function of only
{(A) Pressure {(B) Temperature {absolute)
(C) Volume (D) Pressure & Temperature
(A) TE &I (B) dgH= &7
(C) 3IMTaa= By D) <19 TS G BT
64 For a fluid at rest:- ,
(A) The shear stress is zero only on the horizontal plane
{(B) The shear stress is zero
(C) The shear stress in maximum on a place inclined at 45° to the horizontal
(D) The shear stress depernkis upon the co-efficient of viscosity
W R 81 o) oar 8«ar & ?
(A) Jueger uftedt, dHadl @ifsT a9 o g BT &
(B) 3IOeUol ufdeas, I 81ar &)
(C) 3gsunT yfaad, AfAsT | 45° & dd ux 3MfYpan 87 &)
(D) argTsueT gftiEed, T Pene ok iR gar &)
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65 In a static fluid:-
(A) Fluid pressure is zero
(B) Linear deformation is small
(C) Resistance to shear stress is small
(D) Only normal stresses can exist

wWfow el FH-

(A) TRA TE I BT B

B) YT f@suer &8 87T E|

(C) 3g%guy wfagar o1 Wi &H grr ¥
(D) Fad FHFg Ufded 991 I8 WHhd B

66 1 m? of air at pressure at 10 kg/em? is allowed to expand freely to a volume
to 10 m>.The work done will be

| m® g RIE®T g™ 10kg/em? &1 a1 &1 I B0 @ e I www
$ S/ 9% SHST Tad 9% X 10m3 € wrn 8, I war s &8R-
(A) Zero/IH : (B + ve
(C) -— ve (D) 10°Kg m

67 Gauge pressure is equal to
(A) Absolute pressure + atmospheric pressure
(B) Absolute pressure — atmospheric pressure

(C) Atmospheric pressure — absolute pressurc
(D) None of these

IS FE BT B _
(A) Joef TE -+ aIgHEScid T @ SER
(B) Jmf T — aigFsond TW @ SRIER
(C) agHSNT ¥e — TR I B W
(D) 378 A ®1E T8l

68 In reaction turbine:-

(A) Total energy of fluid is converted to kinetic energy in the runner

(B) Kinetic energy is appreciable as the fluid leaves the runner and enters
the draft tube

(C) The vanes are partly filled

(D) It is exposed to the atmosphere

ufafssar exaisa -

(A)wﬁwaﬁ'wmnﬁmmﬁﬁqﬁaﬁﬁzﬁm%

(B) 518 dvd TR I Bredl § iR gue e ¥ Ww Al € a9 e
FHSit HIH) BIl &1

(C) ¥4 s v9 A W BR B

(D) a8 aigHvsd &) Iguiya B8/l F
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69 According to Clausis statement :
(A) Heat flows from hot substance to cold substance
(B) Heat flows from hot substance to cold substance unaided
(C) Heat flows from cold substance to hot substance with aid of external
work ‘
(b)) B & C above
FARTH & FIFHR— _
(A) ST 7 garf ¥ S ygel I aitR gsdr &9
(B) 1 fqF7 9em & & i garef @ ool uyarf @ o wmdr &
€C) S0 T PR P EERKT W oUS yerRf W W el @ aiw
CELTME
(D) SYRT B & C
70  Kinematic viscosity is equal to:
(A) Dymnamic viscosity > density
(B) Dynamic viscosity / density
(C) Density / dynamic viscosity
(D) None of these '
gEfae warar 8kt &—
(A) 1RF Ta9ar ~ oRg D SvTae
B) @ @O / A @ SXIE
©€) w=Fa / R w=EIar B WRER
(D) 99 A BE TEY \
71 The relation between the number of links (L) & number of pair (P) is:-
ey (L) ¥ v aiR oHl (P) 95 Wt & §m wrEsr gar 8 2
(A) L =2 P-3 B) L=2Pp-2
€) L=2P-4 ) L=3-2P
72 The temperature of interior surface of cylinder wall of 1.C. Engine is normally
not allowed to exceed
I T "@gn faar s &
{A) BO° C , (B) 120°0C
{(C) 180° C (D) 240° C
73 Inversion of a mechanism is —
(A) Changing of a higher pair to lower pair
B) Tuming it upside down
(C) Obtained by reversing the input & output motion
(D) None of the above :
e g=raeht @1 sgaphor — ) '
(Ay T=oY gl B Py goter % s=eFn Srm E
(B) SO IdT QAT BT #F) -
(C) e e fonfa 7R &1 Sopmor v ura fear oiar B
(D) SBURIRT A B F48) |
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74 A simple mechanism has:
(A) 1 link : 3B) 2 lioks
(C) 3 links (D) 4 links
(A) 1 T3 : |) 2 =Rt
) 3 wfsar - (D) 4 >HfsAr
78 Efficiency of 1C engine is normally of the order of
IC SS9 &1 gE TEd 8l & _
(A) 15-20 % (B) 20-25 % ]
(C) 25-30 % (D) 30-35% '
76  The purpose of flywheel in an IC engine is —
(A) To regulate the fuel supply
{(B) To increase the power capaclty of the engme
(C) To reduce the vibration in the engine
(D) None of the above
TUH 3L, AL mﬁnﬁm@maﬁwwméﬁm%?
(A) F== Ot &1 At o<
(B) IO & wfda &Har &Y "9
(C) ST H HUA HH BT
(D) SURIE! | PIE B!
77 The maximum & minimum speeds of a flywheel during a cycle are N, & N,
rpm respectively. The coefficient of steadiness of the flywheel is —
TR = @ T (w6 A AR aun gEes afidl e N aRn
N, rpm 8| dg99R, g®m & Rewar — Ponies feaar 8-
.N1 - N2 Nl + N2
A
A 2(n, - N,) ®  2(N -N,)
< 2(N1+N2) . N+ N,
) N, -, ®) N, — N,
78 Cetane number of petrol is around
ot 1 Hies wear 88—
(A) 10 @) 20-15
(C) 20-25 D) 55-70
79 Tension in the tight side of a beit drive is 100 N & that in the slack side is
60 N If the belt breadth is 10 ¢cm & thickness 4 cmWhat is the maximum
stress induced in the belt?
Wuaawzkﬁma‘ﬁrﬁﬁﬁwoNﬁamagﬁrﬁzamﬁ
60 N & afe u=se o5 Hie 10cm & 3R HCE 4cm &1 dr uge & ARG
afpan wftee o= 8P —
(A) 2.5 N/cm?2 - (B) 1.5 N/cm?
(C) 4 N/em? (D) 2 N/em?
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80  For a flat open belt drive the belt speed is 880 m/min & the power transmitted
is 22.5 KW. What is the difference between the tight side & slack side
tensions of the belt drive?
ﬁﬂ%mm—mwﬁ.u@aﬁw.eso%aﬁ?ﬁﬁﬁwﬁﬁ
22,5€|WW$W(WE)WHWQ@JGMW1¥W

IR BRTT?
(A) 9000 N (B) 6450 N
(C) 1540 N (D) 1000 N

81 Governer is used in automobile to:
(A) Decrease the variation of speed

(B) Control / Ot

(C) Control 3N -

(D) All of the abave

IAiEFEIES W IR BT wAnT fFIT orar &
(A) =ter ¥ aRads &Y &9 s & g
B) BN /& B afaa s B g

€) s§¥ T Bafya v @& g

D) SUgaa wwf

82  Which one of the following is a gravity controlled type governor?
(A) Hartnell governer . (B) Hartung governer
(C) Watr governer - (D) Pickering governer
FrafafRea § 4 P9 o PrafSa ger o1 T 8 2
(A) BRAE AR B) sl g
(C©) e g (D) fAsERy 1aiw

83 Increase in pressure
(A) Lowers the boiling point of a liquid
(B) Raise the boiling point of a liquid
(C) Reduces its volume
(D) Does not effect the boiling point of a liquid
9 q@gT A
(A) ©a BT aRTIe IR Sy 24
(B) =9 &1 Fia 9g wnar &1
(©) 3 ue oar &1
D) TS R HIEF THE FE gSdar |

84 Hartnell governer could be classified under the head of -
(A) [Inertia type governer (B) Pendulum type governer
(C) Dead weight type governer (D) None of the above
BISHA AR @1 affevor frw ofid @ siarfa fear o owwar & 2

(A) ST UBbR & T B) TEF UEPR & T
(©) fFreas R gorR @ ol (D) Swad 9 BIF T8
EJE-2015 / II_A ] 38 [P.T.O.

www.diplomagovtjobs.in



85

86

87

88

89

it it / MECHANICAL ENGINEERING
When the speed of governer increases then:
(A) Height of governer & radius of rotation increases
(B) Height of governer & radius of rotation decreases
(C) Height of governer decreases but radius of rotation increases
(D) Height of governer increases but radius of rotation decreases

St sfefFaEes @ afa sed & a9

(A) IRfFmEe @ S IR goF B Bogr s @

(B) v &7 SaE R goF @ B geh &

(C) IR azs a5 FuEd g § By o & Boar s @
(D) sfaffEmze @ Fod den 8 g go= & Bomr ggd 8
Which of the following boiler is water tube boiler?

(A) Locomotive boiler (B) Cochron boiler

) LCornish boiler (D) Bab cock & Wilcox boiler
=1 § ¥ = 9 diger ol T dfaer Bem & -

(A) wirpwfea diaar (B) @R diuer

(C) =Rt dfgex (D) YWEBfH Yd faawies dmex
Which of the following gear system have minimum axial thrust?
(A) Bevel gears (B) Helical gears

(C) Double helical gears (D) Spur gears

g & e i — gorelt § sl uolie gaas &ar & ?
(A) 9 fraR ®B) TJusfara firr

(C) famrsfaa firax (D) TR R

In a gear drive module is equal to:
i i
Diametral pitch (B)  Circular pitch

(A)

Circular pitch Diametral pitch
©) T1 (D) 1
gep iR g # Higge [ae e 8idr g 7
1 1
A o srat - B Tha e

i s=aars ® =TEg LT
JI ) JT

<)

Thermal efficiency of thermal power plant is of the order of
Qep o9 wufdd HI3a @ Sl qerm sk & ()

(A) 15% B) 20%

(C) 30% (D) 45%
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90 Lewis equation in spur gear design is applied to:
(A) Gear
(B) Stronger of pinion or gear
(C) Weaker of the pinion or gear
(D). Pinion
R R fSSma 3 SRE e a1 uyarr et srar 8§
(A) =
B) NfFEa o fge d3 ot @ Toge =1
(C) RAffasm g frar 3§, @1 @ sasr &
(D) fafras
91 Rivets are made of -
(A) . Brittle material (B) Ductile material
(C) Soft material (D) None of the above
Rae sE uarR! & I9@ o™ &
(A) "R yaref (B) o~ gy
(C) ¥y damnd (D) TURTRT § ¥ F1E TS
92  Econonhnzer in boiler
(A) Increases steam pressure
(B) Increases steam flow
(C) Decreases fuel consumption
(D) Decreases steam pressure
ISR H IHHTHIGER
(A) 9@t 8 |99 & T B
(B) 49 & yqig @1 G2t P fam
(C) o1 By wd HIS 30
(DY W9 & qE g & ey
93  The shear strength, tensile strength & compressive strength of a rivet joint
are 100 N, 120 N & 150 N respectively If strength of unriveted plate is 200
N. the efficiency of rivet joint is:
Uh Rac Sire @ geuer wmed, a9 wwe] den wdre wimesd e
100N, 120N @21 150N & | 9g99R AT a1 Rde &1 S #1 amesd 200N
8 a1 Rae Siis & <amar fehadr swfi »
(A) 60 % B) 75°%
(C) BO % (D) S0 °;
94 Normally cam moves with-
(A) Constant velocity (B) Variable acccleration
(C) \Variable velocity (D) None of these
HEINOTAAT &H  gHaT 8—
(A) T ofa 9 B) ufRadiig ==wor @
(C) afr 9§ (D) sST99 ¥ PHB1S I8T
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98 In the impulse turbine, the steam expands
(A) In the nozzle
(B) In the blades
(C)Y Paridy in nozzle and partly in blades
(D) Neither in nozzle nor 1in blades
AN @Ay # W™ Bl B
(A) TRt 3
(B «is #
(C) 3 Tisa # aur el s A
(D) = HfHAst ¥ 7 &8 #°
96 1he conmtact between cam & follower is to form a:
(A) [lower pair (B) Higher pair
(C) Shding pair (D) Rolling pair
FH O S @ dra |egel ¥ T §9ar § 7
(A) tor=1ae e (B) T=EOR gOH
(C) \dvr I (D) I gITA
97  The pitch point on a cam exists on-
{A) Any point on pitch curve
(B) Point on cam pitch curve at whlch pressure angle is minimum
(C) Poimnt on cam pitch curve at which pressure angle is maximum
(ID)  Any point on pitch circle
a1 o fa f{g swr &
(x) v g 9r TR W feaeg
(B) w¥d fa g v gs fag 599 o ~FaH 9 307 &ar 2
(Cy @9 fog g xR 98 fOg 5w o afdwas e @wr 8w #)
(D) foa g s w1 Ry
98 The funcuon of condenser in thermal power plant is
(A To act as reservoir to receive steam for turbine
(B) To condense steam o condensate to be reused again
(') To create vacuum
1>y All the above
o EFT EIA 7 oFufry wmrl s &
(A) GF @®&Ug &Y TRE GIT exEigd @B H1a Usida aRar g1
(B) /9 1 @9 ¢ fae /e 98 NRT IUAnT # AR W 99
(Cy e @ @A @ forg
(D) Z=H |\ o|q
99 Using lubricants on engine parts is an example of reducing-
{A)r Motion (B) Force
{C) Acceleration (D) Friction
gof @ gUil 7 FIEdS WART BT B OGT BT HR B HT IFIEI0 89
(A A (B) €
(Cy &Ry (D) =iy
EJE-2015 / li_A ] 41 [PT.O.

www.diplomagovtjobs.in



qites SofiF@Efis / MECHANICAL ENGINEERING

100 In thrust bearing, the load acts
(A) Along the axis of rotation
(B) Parallel to the axis of rotation
(C) Perpendicular to the axis of rotation
(D) In any direction
a¥e f&af¥m (thrust bearing) ¥ WR @1 fasr (direction of load) B8RS &—
(A) 9H49 3@ & IINII™  (along)
(B) g 3@ & HHATR (parallel)
(C) YA &7 & r=ad (perpendicular)
(D) =E | fawn
101 Volumetric efficiency of air compressor is
(A) The ratio of stroke volume to clearance volume
(B) The ratio of air actually delivered to the amount of piston displacement
(C) Reciprocal of compression ratio
(D) Index of compressor performance
arg HUlSh b1 Jgafie 8T 8kt B
(A) 5 IO O"T JARIATH BT =T
3B) %%mﬁma%néargmmwﬁiﬁwamwﬁ%w
IHITT BT RS
(C) wHI9sA agua & S EQE
(D) wdeA & Hd &7 gaAhi®
102 The life of bearing is expressed in:-
(A) Lac of revolution (B) Billions of revolution
(C) Thousands of revolution (D) None of the above
a1t &1 Sa9 (bearing life) WA u=f3fg far <mar &
(A) 9RshaT & g # (B) uRe¥r & a9 #
(C) 9RpHT & swR A (D) JGRERT | I8 51
103 A particle acted upon by two forces is in equilibrium. Then, the angle between
the two forces is equal to:
UHh g av R &% @ < 99 OraEer § &) eF ¢ @ §va &
BV BT A BRT
(A) ©O° (B) 45° .
©) 90° (D) 180°
104 Centrifugal compressor works on the principle of
(A) Conversion of pressure energy into KE
(B) Conversion of kinetic energy into pressure
(C) Centripetal action
(D) Generating pressure directly
ITH= AHheE s wwar & e fagra o
(A) TW Soil &1 aforw St 3 afkaffa =war &)
MB) 1 SST BT TE SHelt # uﬁaﬁa BT F
©) = =t
(D) 9N g9 I Hdr 8
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105 The law of parallelogram of forces gives the resultant of —
(A) Parallel forces (B) Two coplanar concurrent forces
(C) Like parallel forces (D) Non Coplanar concurrent forces
T B wEErar oy & Frem g oo s= @ AW wa fear
ST 8— ' -
(A) TaEFT=I €6 @l (B) TF HHaNI RN g BT
(C©) wHfde 9=k @ 1 (D) SHded S\l g6 @1
106 The acceleration of a body is expressed by:-
fQog &1 @xor usfRia e sy & -
v a’s
dv _
©y v (D) All of the above / STITd WIH
107 The volumetric efficiency of compressor with increase in compressor ratio
will ' -
(A) Increase (B) Decrease 2
(C) Remain same (D) None of above
Hdred U g9 W HUISe &I MAdIe QERT
(A) e 8 _(B) wed g
(C) 9= I&a 8 (D) TH | 1 A8
108 The velocity of the object on earth when it is released from height ‘h’.
h S ¥ gl R Ra 8 s &1 37 Swm &
(A) V=2gh? ® V=\2gh
1 B b2
© V= fogn &) Veoe
109 The direction of frictional farce acting on a body which can slide on a fixed
surface is :
{A) In the direction of motion
(B) MNommal to the direction of motion
(C) Unpredictable
(D) Opposite to the direction -of motion
Y s o & o) <2 udvfi aa o ey == & o1 Rer was o® |99
T HHAT & 7
(A) TIfa = fasr &
(B) Il & RBw & ==
(C) IFHT A& ™l S Haoan
D) wifa =7 feem & fRAgda
EJE-201S ' H_A Y &3 ' {P.T.O.
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110 Efficiency of gas turbine is increased by
(A) Reheating (B) Intercooling
(C) Adding a regenerator (D) All the above
T exaiga & TgrEr dgd B
(A) gT=INE FRT (B) eoaes g
(C) A5 ReX 8™ A D) =TH | wa
m A body is moving in a circular path with radius ‘r’ The relation between
its linear velocity ‘v’ & angular velocity '¢' -
¢w fvs A goamr of (B 'r) 9x g8 e #1 Suwd Wi aa
vV oal B J oy W e BT & -
{(A) v=rmw? (B) v= w/r
(C) v=r/® (D) None of the above / IWIad | B 1
112 The value of frictional force is:-
(A) More than external force (B) Equal to the external force
(C) Less than the external force (D) None of these
aivT §6 T HIA B/ 8
(A) ¥1E9 € 9 It (B) =9 §4 § a¥Ew
(C) =" s | HH D) =98 | FE =8
113 Unit of thermal conductivity in 81 unit is
T WADGT YONH @ SI HEE B S
(A) J/mZ2sec (B) J/m°K sec
(C) w/m°K (D) b & c above / IURTET
114 The frictional force between objects that are stationary is called:
(A) Rolling friction . (B) Kinetic friction
(C) Dynamic friction (D) None of these
WER aegHl @ 49 u¥er BT T eel olkT & ?
(A) QAco =EoT (B) fas edor
(C) Wit @fass) edor D) SWHEd § IE T8
115 The ratio of ultimate stress & working stress is called —
(A) Factor of safety - (B) Modulus of elasticity
(C) Poisson’s ratio . (D) Neone of the above
i~ ufte& (ultimate stress) o HEABN Ufdsd (working stress) &
IURT BT FEd B —
(A) G Tois (factor of safety)
(B) UQRIAT UNi& (modulur: of elasticity)
(C) TS 3rgurd (poission’s ratio)
D) SWRIF #§ ¥ B 98
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116 The vapour compression refrigerator employs the following cycle
(A) Rankine (B) Camot
(C) Reversed Camnot (D) Brayton
amg geaa w@dled A e A g7 a@dar € ?
(A) P whH (B) WA WhHH
() fafda #RaEe umA (D) ASH WHH
117 Which of the following is a dimensionless quantity—
(A) Stress (B) Strain
(C) Pressure (D) Shear modulus
frafeifaa & 9 3 @ o RwmIMEa a=r 82—
(A) ufdsst B) R
(C) W9 - (D) 3JgTUYT HEIS
118 Hooke’s law holds good upto:
(A) Yield point (B) Limit of proportionality
(C) Breaking point (D) Elastic limit
g6 &1 fFraw @ng skm 8 — o
(A) oxmg g @ (B) AFOHaETT & HHT O
) fame g o=@ (D) vl HHT b
119 The condenser and evaporator tubes in a Freon refrigeration plant are made
of
(A) Steel (B) Copper
(C) Brass .- +€D) Aluminium
mﬁawaﬁaﬂwaﬁqﬁﬂﬁmmﬁﬁamﬁﬁﬁ@qﬁﬁwa
iy B 7 _ .
(A) sw@a (B) df
(C) dYas (D) agfafaas
120 The bending moment on a section is maximum where shearing force is —
(A) Minimum (B) Maximum
(C) Zero (D) Changing sign
MWWWWWWWWW@#W 3rfyepaH
BT B
(A) =gFaH (B) JOHaH
(©) =T (D) uRgsh frz
121 A simply supported beam caries a uniformly distributed load of W kg f per
unit length over the whole span (1). The shear force at the centre is:
TP AFFT ATERET gUs @ e ThHEA fAaRor W kg £ Ul t@a
wrard, SEd Wl W9 () @ R 8 aggER SEd BT U 3BT
g« fpesnm s/ ?
w2 | w
W — ® T
oW
(C) zero/ ¥ (D) -
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122 Unit of viscosity is
YT oliee &1 SI AFEH 8K 8 -
(A) m2/sec (B) kg sec/m?
(C) N sec/m? (D) NsZ/m

123 Two simply supported beam A & B has the same length ‘L’ & subjected to

equal bending moment M. The stress induced in the beam A & B are o 45
& o g respectively. If the cross-section of beam A is b X b/2 & that of beam

B is b/2 X b, then correct relation between o 5, & G is:

T gHFEd US AT B UHEAF oaE L & € 3R 9961 s el
M Uh WHIH & TUs A TAT VS B H HHE: o, dAT o, wfaed aRkg
8| agguar Al gus A &7 3gav yR==T b < b/2 30K B &Tb/2 x b &Y,
dl G, 9@ op @ d°E F WA TR FO BFm 7

(A) o©o,= ZcB (B) o©,= 40-3
Cg
(C) o, = = (D) o©,=0,4

124 A composite bar is made of steel & Aluminium strips each having 3 cmZarea
of cross — section. The composite bar-is subjected to an axial load of 12000
N. If Ej ) =3 x E,;. the stress in steel is —

(A) 10 N/mm?2 (B) 20 N/mm?

(C) 30 N/mm? (D) None of the above

Uh HgE HIe arell s off W[ a7 ggHfHas @ aos&iar ¢ s
g oo uAs & IguvT e T aF%A 39M2 #| GYyad de gl oS
9% 12000N @1 &N AR oFTR-T ST 81 3R E _ =3E,, 87 dr s9d

# ufema Brm—
(A) 10 N/mm? (B) 20 N/mm?
(C) 30 N/mm? (D) SWRFd H HIS A8
12S The frictional resistance of a pipe varies approximately as
(A) Velocity of flow B) 2
© v @) 2
&M g9 ¥ 989 91t €9 9¥ N arar =v ufaRer o1 "e ORIl @ear
&
(A) ®9 & YHas T G @) G2
©) @ (D) (@72
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1 When two capacitors are connected in series, there total value of capacitance-
(A) Remains same (B) Reduces
(C) Increases (D) None of these
e 7 dufhex amow d§ SO mw 7 o oha 8 ar 99T A
(A) fHaga wsar & (B) wHedar &
(C) 91 & D) T 8§ FE T
2 In an electro dynamometer type Watt meter if the voltage and current measured

are given by ® = 100sin3147s and 7 = 10sin|{3147 — 60°| respectively,
P

the reading (in watts) will be

U Solggl SIOOHEek diedley ¥ dieew 9 SRT WA e &

© =100sin314¢ T& 7 = 105i“(314f—60°) FFa Aex 1 AfET (aH
#H) = 8rfr ?
(A) 1000 (B) 500 (C) 250 (D) 433

3 In a series R-L circuit with supply voltage of 5V, the voltage across the
resistance ‘R’ is 3V. The voltage across ‘L’ will be

gss SOt R-L ufRaer & gfRf (Wend) dyeedr SV 81 3R 'R’ &1 dieedr
3V 8 @ L’ & IR uUR fha@ deear 8 7

(A) 2V B) OV
) 5V (D) 4V
3 The domestic electric supply is what value of A.C. supply
(A) Average value (B) Mean value
(C) RMS value (b)) DC value
Wi A ugaa 8- arent fAga s AC &1 I |1 A B8Rl ' O°?
(A) T&ES #=@i+ B) W= HEA
(C) IIRYATH HHA (D) NG #+F
5 In the measurement of 3 phase power by two watt meter method, for an

unbalanced load, the power factor of the load is
rpen wfaRr w= @1 I e Aex A # sEgfea R 8g WR T
wifdg—gores =1 BT 7

— W, — W,
(A) cos 1an‘1<{J§(Wf—”')} (B) tos tan_l{#}
2

HW_ + Wl W2 + H/l
©) cos(w, —w,) (D) Wone of the above
¥ § B W &
EJE-201S / H_A ] &7 ' [P.T.O.

www.diplomagovtjobs.in



faga Fafr / ELECTRICAL ENGINEERING

6 The doping material for an Nétype semiconductor is
(A) Pentavalent (B) Tetravalent
(C) Trivalent (D) Bivalent
TH N-UHR b efaas B fag m5esw s=m | ?
(A) UYg HIOGH (B) ag wHISTDH
(C) Huaws (D) fEaaoe

7 Damping torque is essential to

(A) Increase oscillation

(B) Reduce oscillation

(C) Maintain Oscillations unchanged
(D) None of these

ST Tl weagel 8 wify g -
(A) 3iflerE - dgrar 2

(B) 3oy o® ovar 2

(C) IirfreraT sfRaffa <=ar &
(D) s A w1E a8

8 In which of the following instruments, a disc is present?
{A) Ammeter (B) Voltmeter
{(C) Wattmeter (D) Energy meter
e 7§ e Susvyor 3 op 3w 85 8 ?
(A) uTHIex (B) dreciier
(C) areHcy (D) sFASIHHEY  (SHuirEm)
9 Two coils have self-inductances L, and L, henry respectively. If the two

coils are connected in series and the Mutual inductance between then is M
henry, the value of maximum resultant inductance of the combination will

be

A Uit @ TEvET wE L, v L, 399 &) S S ¥ o
Td SP MU URWURS URetd M 299 81 9w ufYoreft 9Reea T
‘ST =®HE P

(A) L;+L,+M (B) L,+L,+2M

(C) L,+L,-M (D) L,+15-2M

10  Stepping up of voltage during transmission is done to-
(A) Increase efficient power transfer
(B) Maximum power transfer
(C) To reduce Transmission losses
(D) To reduce voltage losses

SR & W=y dieest &7 €9 39 fhar siar & 2
(A) THIRg< dfar givesy g™ @ fare

(B) #fdaqs digy giewsy @ 2

(C) gafer s &89 o= & fao

(D) TS At wF BHA D oo
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11 The meter constant of a single phase energy meter is 500 rev/kwh The meter
takes 86 seconds to make 50 revolutions while measuring a full load of 4.4
kilowatt. The percentage error in the meter is
wp gATNeR w1 Rei® 500 G/ fecliare dHer &1 44 e @ g
Wk Ue W 86 Qdve d 50 "amR onTEr 21 Wiew @ ufdwm e s
(A) -2.43% (B) 2.43%

(C) -4.86% (D) 4.86%

12  What is that property of a coil called under which if there is a change in the
current flowing through it, a voltage gets induced in the cail itself as well
as the neighboring circuit?

(A) Resistivity (B) Inductance

(C) Charging (D) None of the above
M@m&*ﬁﬂgﬂﬁmrﬁﬁﬁmewﬁw%amﬁ
afyadd 2F aR SH @ued aeur swe Wi af¥e i aRa faga aEe
g1 $Q B TR 8 7

(A) wfeREsT (B) W¥EHT

(C) =TTt (D) 311 9 1§ A

13 Synchronous speed equation is

=P Te @7 WY (B & 7
: : —
(A) Ns= ]2}(3_)‘ (B) Nv= 12074
rr . 120
© N =120 e

14 A DC series motor is best suited for
(A) High starting torque requirements
(B) Low starting torque requirements
(C) Constant speed
(D) High speed
v SN sivgen (99 Wee wafties |ugoa B 7
(A) <Seu ufye e H#n &g (B) FF gRfEE e Hi #g
(©) Rew #ifa &g (D) =g ufa &g

15 Three currents i; . i> and i3 meet at a node. If 1,=10 sin(400t+60")A and
i,=10sin(400t-60%)A then iz;= o
= g i, i, T i; B Ars o¥ @ W E I §;=10sin (4001+607)A
Td iy=10sin(400t-60°)A B T iy T #;H 8T (T #H)

(A) © , (B) 10sin400t A
(C) -10sind00t A : (D) -5J3 sin 400t
EJE-2015 / 1I_A 1 . 4%
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16  Which of them is peak load station?
(A) Small capacity thermal plants
(B) Diesel stations
(C) Run off river plant
(D) All of them
FH A I T wRIE dF & ?
(A) &9 &A1 & offd wiic (B) Sroied @9
(C) [ I AaqR wIie , (D) Surad
17 In which type of frequency meter, the frequency is found when the torque
in the moving coil becomes zero? .
(A) Vibrating reed type :
(B) Permanent Magnet moving Coil type
(C) Moving iron
(D) Electrical resonance type
ﬁmﬁﬁ%maﬁﬂ@mmﬁwaaw#w
® YR B T wR frar smar & 7
(A) FPUAFN I T B) Wl g=HT IO HosN Sudw
(C) == s gedr (D) 3Jga Irgars gwar
18 Which three phase system-does not contain neutral?
(A) Star
(B) Delta
(C) Both do not contain (star and Delta)
(D) Both (star and Delta) contain
fora fech Rves 3 Sei= s =8t 8ar ?
(A) ®€WR
B) See1
(C) <F1 # A8 8ar (R 3R )
D) <H #H Bar & (R e )
19 A synchronous motor is ;
(A) Self starting ) (B) Non self-starting
(C) Sometimes self-starting (D) None of them
v fR=pma Aew
(A) do5 Terfdad 8 8
B) A\ o wriEHT a8 &
(C) N & Vop werifdT a8 2
M) z7H q o &
20 In an attraction type moving Iron instrument, the damping torque is usually
provided by - .
(A) Air friction damping (B) Eddy current damping
(C) Fluid friction damping’ (D) Capacitive damping
U GA e (nade godl) SudE H sraHed genrgel aEdR g e
@ BRI ga= fear oirar & 7
(A) Qg udor IgHEed B) ¥HIR uRT aEHaT
(C) O ©¥OT IrgHSA (D) w\WaRFA IEaHeT
EJE-2015 / li_A ] 50 {PT.O.
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21 Which of the following motors has no winding on its rotor?
(A) Single phase Induction (B) DC shunt
(C) Hysteresis * (D) Universal
fry & fpa =X @ e F PIE PSS A8 BRU ?
(A) UHh Hol YT B) == I i
(C) fEeRfuw (D) HEfx®
22  Magnetic cores are made up of thin lightly insulated lamination to reduce-
(A) Power factor (B) Hysteresis loss
(C) Load loss (D) Eddy current loss
Ffer R 9 oF ode sgoes dfteEE o Bxft & e & e
@ 7 HH BT
(A) diay Haex B) fBEweRfEw o9
() <re &t D) T =< dE
23 Swamp resistance and condenser are used
(A) To reduce the error while measuring DC quantities in a moving iron
instrument -
(B) To reduce the error while measuring AC quantities in a moving iron
instrument
(C) To reduce the error while measuring DC quantities in a moving coil
instrument
(D) None of the above '
W wfRE d S=nfa &1 9heT
(A)Waﬁmaﬁﬁemg%aﬁmaﬂﬁa%m-ﬁﬁmm%
&)ﬂﬁ?ﬁgmaﬁmﬁmg&ﬁmmﬁaﬁmm
Sl &
(C) aﬁmﬁmaﬁmﬂ?ﬁmgﬁraﬂaﬂﬁa%ﬁ‘mﬁﬁmmg
(D) T | B A&
24 Rheostatic braking cannot be used in which of the following motors?
(A) Synchronous (B) Induction
(C) DC (D) None of the above
Rafeifes afen o garm e 8§ 4 fea "3 #§ 98 81 aedr
(A) TEPIIAD (B) WROT
(C) SN @) s9°H § g A8
25 A transformer works on the principle of -
(A) Self inductio (B) Mutual induction
(C) Relative mduI:non _ (D) Comparative induction
U giveriR v 8 @ few fagra W SR HRar 87
(A) o6 SSEHA B) I FT=SRH
© Rafea sssagm S ¢ ) FERfeg s=sag
EJE-2015 /H_A ] 51 [ P.T.O.
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Fqllowing is not an advantage of a Permanent magnet moving coil instrument
(A) It has a uniform scale ‘

(B) It can be used without error for a long period of time

(C) It has good damping torque

(D) Its range can be easily extended '
memwmﬁﬁmﬁﬁaﬁwww

- (g T& f{erar &

(A) TE®T T5HET 98wy 5T 2
(B) Wmﬁgﬁmmwm%wwé

(C) IHHT Iaa—<9 sangel s=sr Sar 2
(D) SHS WE T AT A AR fbar oir gear &

A three phase Induction motor always

(A) Works at lagging power factor

(B) Works at leading power factor

(C) Works at maximum (i.e. unity) power factor

(D) The power factor keeps changing with the load
TE BHEsh 9vor Jrex s9en -

(A) 9= ufady T[ures 9 HRT wed 2

B) ITTEN TR U 9v HTd @ B

(C) 1Sman (1) fex Yo ox @& wedr 2

D) = YoE Hex  9R @ W gSeidr Ear @

In DC machines the value of A equals to 2

(A) For Lab winding (B) For wave winding

(C) For Field winding (D) For Armature winding

AW 7T F A BT 5 2 8ar 2

(A) A9 aiEfEn 'y (B) Q99 gEfSn 8¢

(C) Wies. qEET Bq (D) aF=ER TiEfET 8y

The internal resistance of a voltmeter is 2 ,000 ohms. If this voltmeter is

connected in series with a resistance and a 220 voh supply is connected
across the combination, the voltmeter reads 200 volts. The value of the

resistance is

(A) 200 Q (B) 4000 Q
(C) 2000 Q (D) 20,000 Q

The supplier shall provide and maintain for the consumer’s use a suitable
earthed terminal in an accessible position at or near the point of
commencement of supply. Which IE rule states that?
m%wﬁammﬁaﬁwm&mmﬁﬂmﬁ
Waﬁnmmmﬁﬁmlwaﬁﬁwmﬁvmé?
(A) 1IE 33 ' (B) IE 61

(C) IE 67 (D) IE 88

[ P.T.O.
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31 A series motor must never be allowed to run at
(A) No load : (B) Full load
(C) Half load (D) None of them
up @S Hew ®7 oW o e 3§ | e uw T8 werr wfge Y
(A) 1 s (B) TA IS
(C) BF drs D) T | B s
32 In a thermal power plant, feed water heaters, super heaters and air preheaters
are mainly used to
(A) Have a better dust removal in the plant
(B) Have a better Ash removal in the plant
(C) Increase the efficiency of the plant
(D) None of the above '
ag ufa wu= A WXl Wi A9, W@H@Wﬁrm
fopar AT B gEaaar
(A) wHu= # S8R gd ﬁwww a4
B) o= A Jsar @ FAad Bg
(C) wI= o Q& @™ B8g
D) T | Prs TG
33 Which among the following s not an electric braking method..for a motor?
(A) Rheostatic ~ (B) Regenerative
(C) Hydraulic - (D) Plugging
o & @ = | HieR ﬁgﬁﬁ%ﬁﬁﬁﬁﬂiﬁ%?f
A) danmefes B) Ao '
(C) <=d ™ (D) I
34 The characteristic impedance of a loss less line in called.
(A) Leakage impedance (B) Peak impedance
(C)  Small impedance (D) Surge impedance
g B Rd wEa @ daeRRes NS B Hwed % ?
(A) s g ®B) 9o TN
(C) ¥ g (D) T ==
35 For what value of Ry (in ohms), it receives mammumpower‘?
I SN, |
I | 7 ]
3ev en o xR
‘t o
Wﬁaf{RLa%ﬁmmwar@ﬁnwwam?
(A) 5 (B) 6 Q
©C) 4 Q ™ 7Q
EJE-2015 / LA ] 53 [P.T.O.
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36 High voltage cables which are used for 132KV for these core’s are
(A) Qil filled cable ' (B) S.L cable
(C) Gas pressure cable (D) Belted cable
wﬁmﬁ?gmﬁhmﬁwzwimﬁmwﬁ
gl Bfder B AT/ ?
(A) o9« gRa 3R« (B) S.L a&faw
(©C) NNy TEe «fas (D) ufeea Hfes
37  Arc voltage is given by equation
3P ATH BT W o & - )
B
(A) 80=A+7;— B) eO=A+BJ;
A+ B A
(C) eo =T : (D) €0 =I+B
38 The c|.|rrent through a 20 resister will be
20
v sA
ST BF # 20 ufodr § g7 are) g7 2nf ?
A) 2A B) 3A
(C) Cannot be determined (D) SA
T8 FreTer S o\
39 Through which source is maximum electriéity generated in the world?
(A) Water ‘ (B) Nuclear power
(©C) Coal (D) Solar power
gﬁmﬁwﬁwﬁmﬁﬁm@hﬁﬁwﬁﬁaﬁmﬁ%?
(A) g™t (B) uvEIog '
(©) oI D) =
40 If 5, 10 & 15 ohms resistance are connected in parallel, the combined
resistance is ohms.
ul%s,roaﬂ?wafrqa%nﬁIWWﬁq%%?hﬂﬁﬁﬂ%m
(A) 15 B) 10
(C) S D) 2.73
EJE-2015 / Il_A ] s4 [P.T.O.
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41 The mechanical test is done on which type af insulator?
{A) Shackle type (B) Pin type
(C) Strain type (D) Suspension type
Tifs TdEur oY 9 UsR B @uied ux fear S 8§ 7
(A) ¥ivd gBHT (B) 91 <=9
(C) famfa g (D) s (SE®HT g3m) uredl
42 Separately excited and self-excited are types of which machine?
(A) DC machine (B) Synchronous machine
(C) Induction machine (D) None of the above
RIS ToISe S U9 Ucw Sadges 4 U ueR @ A & bR
8 8 ? :
(A) S == (B) qouslere HIH
(C) WRUI "= (D) =TT | PE A8t
43 In terms of relays, IDMT relays stands for
(A) Inverse direct maximum time lag
(B) Inverse definite minimum time lag
(C) Inverse definite maximum time lag
(D) None of these
et & ey ¥ IDMT @&r & 7
(A) =T Svae AfREH eEH A
(By z=<iu =fbaec Affrm oEa &
©) s=u Sfeac dfxgas e@a
(D) 398 ¥ TS A8
44 In a three phase Induction motor normally
(A) The rotor rotates in the direction of the rotating magnetic field.
(B) The rotor rotates against the direction of the rotating magnetic field
(C) The rotor rotates depending upon the supply given to it
(D) The direction of rotor rotation does not depend upon the phase sequence
of the stator supply. ,
HHSh awor Hier #§ |wEeaaar
(A) Ve i Py goff e &= ot & f@en § Jex gEan &
(B) wex i fPafyg woff geem &= @ fAada fRen § dex gEar §
(C) Wex # & TE v P MR W AeR FHAT B
(D)vﬁﬁ@ﬁ%éﬁwﬁéwmwﬁﬁva@
- 45 I 3
45  Value of V,; will be-
V, &t "E 8FT
V.
,,,,.!;L,,,, it _____T__,, _i
: I
1A 50 ‘;';",70 i.__;.,,?:4A . o
| o
(A) 2V - (B) 4V
(C) -14V (D) -2V '
EJE-201S / H_A ] 65 [ P.T.O.
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46 The equation of velocity of propagation in transmission lines is given by-

SEARE o= #7 WiaiEE 39T T AT

A) F=—p B) "= =
(A) pes T

L&
©) 1= Jrc @ V=4-

47 The integration of a three phase Ahlernator with the infinite grid requires
which quantities to be same?
(A) Voliage (B) Frequency
(C) Phase sequence (D) All of the above
%ﬂ%ﬁﬁﬂ@tﬁﬂ%ﬂ%ﬁﬁ%ﬁ?aﬁm%%mﬁwﬁ‘nﬁﬁﬁaﬁﬁﬁ
W e 8F enfag ? '
(A) dreest (B) angRy
(C) WS 3R (D) Sudea f

48 The resistance R, will be:
O™ R, &7 @ 8 Fm ?

50
e
200
100 %40&)
b
A 12 @ (B) 16 O
(C) 10 © (D) 20 Q

49 One AU equals to
T®H AU &1 #9197 81 & ?

(A) 10®m (B) 10°cm
(C) 10%cm (D) 1019%m
50 Which one of the following is not a fractional horse power motor?
(A) Shaded Pole motor (B) Repulsion motor
{(C) Universal motor (D) Synchronous motor
P & @ v Baegrier sRidfar sitex a8 8 2
(A) T[T g #Aew B) uikredur #Hrew
(C) wHEdA®E #Hrex (D) duwifers Hiew
EJE-2015 / 1i_A } s6 [ P.T.O.
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3 | The value of R’ in the circuit is._
R
A AAA
+ 10V - 100
20V——" : 30V
Saa /9 & R w1 99 8Fm ?
(A) 10 @ B 5 Q
(C) 25 Q (D) Cannot be found
' A&t FrHrew S
52 Incandescent lamp is ,
(A) Tube light ! (B) Bulb
(C) Sodium lamp {D) None of these
(A) Tya wEe (B) <4
(C) =T a9 _(D)sﬁﬁ@laﬂs‘#@f
53 The machine in which energy transfer happens both through induction and
conduction, is called
({A) Two winding transformer
(B) Auto transformer
(C) Three phase Induction motor
(D) Single phase Induction motor
a8 "I forad Gt BT SR, O%0T U9 g9iaH (GHAsSaRE) | 8§ gidr
2 P AW B ? . ,
(A) <1 wEISH FTTEHER (B) 3T iHBPR
(C) BHoh uvor \Hiev (D) TP wWoll 90T HicY
5S4 The voltage V,, in the figure will be
5V
U, "
b A Y A
' i+ Ob
wv
Saa oz # v, &1 7+ 8 n 7
(A) 3 Volts (@) (B) 7 Volis (@)
(C) -3 Volts (dce) (D) O Volts (A=)
55 In the case of three core flexible cable the colour of‘ the neutral is
{A) Black (B) Blue
(C) Brown (D) Green
99 PR yoiddiesl dEad H Sl [T BT & ?
(A) &l ; (B) =Tren =
(C) =@ ' (D) = :
EJE-2015 / II_A ] 87 : [ P-T.O.
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The maximum value of power factor is

MMAT YoTb BT Af™paw WA FT ] 7

(A) 05 " B 1
(C) 1.5 (D) 20
The voltage V,, in the circuit (which is a part of a larger circuit) will be
2N AN
a AAA_P 20
5Q
l%
. 5A 8D
ST fra (O v IR W @1 Bww 8) F geey V.o BRI ?
(A) 3 Volis (dree) (B) -3 Volts (a1ex)
(C) 15 Volts (dee) (D) -15 Volts (arse)
Solder is an alloy of
(A) Copper and aluminium (B) Tin and lead

(C) Nickel, copper and zinc (D) Silver, copper and lead
TSN UH UBR BT QS 8 7

(A) TR Td vogfafyasg B) feu vd s

(©) @, sfar vad s (D) RewR, @fuv gd ors

The internal resistances of an ideal Voltage source and an ideal current
source respectively are (in ohms)

(A) O and oo (B) Oand 1

(C) oo and oo (D) oo and O
wmwﬂ%m%@wmﬁmﬁ#%maﬁmaﬁﬁmm
Fe= 2/ 28 (@im W) 7

(A) O QH oo (B) O TH i

(€C) oo TF o (D) e TWgoO

Which of the following is the description of largest size resistor? (given that
the material used in each is same)

(A) 100 €, 20 Watts (B) 10 €. 100 Watts
© 1K @, Y watts @) M Q, V] Wars

ﬁmﬁ%aﬁamwﬁa@wa%uﬁmwmﬂ%(:waﬁs@%zb

SRy THE ¥)
(A) 100 Q. 20 qare (B) 10 £, 100 4dre
(C) 1 f&aT Q. 1/2 T D) 1 T Q.14 ade

58 { P-T.O.
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61 A thermistor has temperature coefficient of resnstance
(A) Positive B) Zero
(C) 1Negative (D) any of the above
T ofiey H ufaRm auHE B OHE BT o ToTis BT B 7
(A) ALE B) A
(C) =HINHD (D) T8 ¥ 3E P
62 Calculate voltage at point A
A g =} dieew &1 aReed HIfog
e s , e
! | ;
2A 7 ) (LI2A
e 5 oozsn o5 o )
| | ] |
(A -75V B) -50V
(C) 25V (D) -10V
63 The filament of an electric bulb is made up of tungsten because
(A) It is cheaper (B) It is brighter
(C) TIts melting point is high (D) Its resistance is low
(A) 98 XN BT 2
(B) @8 wHISIS BT 8
(C) &l Toais e 8ar §
D) SHET gioRker HH 8ar @
64 Transformer oil should have
(A) High flash point (B) High Viscosity
(C) High sludging tendencies (D) None of the above
BRI #§ SFr =eg
(A) S=a wier fdg (B) <T&a =9l
© <=a wferm = (D)s?ﬁ-‘i"@faﬁéﬂﬁ
65 Three equal resistors are connected in series, across a source of emf, dissipate
10 W of power. What would be the power dissipalted when they are connected
in parallel across the same source.
W%q@%wuﬁ@mmemfma%wmmﬁgammﬁ
%iﬁlﬁ?ﬂﬁgﬁﬂﬂaﬁﬁnﬁtﬁ%aﬁt_ﬁﬁﬁwmﬁﬁﬁh—s
fear ww
(A) 10 W : @) 30W
(C) 9O W (D) 270 W
EJE-2015 / 1A ] 59 [[P.T.O.
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An inductor is supplied with 200V at 50 Hz. The current flowing is

66
10 Amperes. The value of inductor will be
(A) 63.6mQ | B) 20mQ
(C) 63.6m Henry (D) 20m Henry
Th RS BT 200 diee, 50 B Ingfa uv faam wirar @ o S w9 10 Qffggw
gRT &0 81 U &T HE BN
(A) 636 e = B) 20 AN 3w
(C) 636 Bz 39 (D) 20 B =9

67 DC servomotors are used in
(A) Purely DC Control systems
(B) Purely AC Control systems
(C) Both AC & DC control systems
(D) None of these
. WM waEt Ao &1 wEnr Sy 82—

A) TR A @ Hw ey 3
®) gia v . we faveqg i
©) a“l-‘-ﬁt{,ﬁ.@é}.ﬁ.aﬁﬁaﬁl@
D) 97 ¥ 3E =987
68 Which of the following material is not used as fuse material?
(A) Aluminum (B) Tin
(C) Lead (D) Carbon
ﬁﬂiﬁﬁﬁ%%ﬂﬁﬂwquaﬁa%wﬁwmm
A) vgAfm B) fe=1
(©) ¥=r D) FHHEA -

69  If the current flowing in the circuit shown is 2A, the value of resistance R
will be
Wﬁaqﬁwﬁzmmm%ﬁuﬁmkwqﬁm

30
.
24v— §R
(A) 6 Q B) 3 Q
€€ 9 D 12 O

70  The Household energy meter is
(A) An indicating Instrument (B) A recording Instrument
(C) An integrating Instrument (D) None of the above
R, ST Wex gar &

(A) & fafeT s ®B) TH AFfET s=gA=
(©) T FAAfeT s=gare D) =z A PF T6
EJE-2018 / II_A ) 60 [ P.T.O.
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71 If Rg in the circuit shown in figure is variable between 102 and 409 then
maximum power transferred to the load Ry will be
i3 ¥ fawmmg Wy gRuy F IfX Rg 10Q 3R 400 & fim ofRkadt & ar
@irs @Y R, & aRa aRHaw ofe 8- |

%
20} %R._-ﬂon
(A) 15 W (B) 1333 W
(C) 10w (D) 24 W

72 The value of R,;; will be

Sad fm # R, BT €A g
(A) 64 Q (B) 24 Q
(C) 144 Q D) 14 Q

73 A Q meter measures
(A) Losses in a capacitor
(B) frequency
(C) accurate values of electrical quantities
(D) Properties of the coils
TH Q Hex HYdl 8
(A) dufer sifF

(B) amgfa
(C) faErha R &1 gg s9= -
(D) A B 7o BT o’
74 Permeance is analogous to ot b
(A) Conductance . (B) Reluctance
(C) Inductance o (D) Resistance .
GeHATIAT JTd BN B— B -
(A) TIEAFHd B ®) ufa=y" = :
© W F - D) uRRE @& IR
EJE-2015 / II_LA ] 61 2 [ P-T:0.
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75  The current I, in the circuit shown is

—

28 3‘]‘-n:m 4A
SR -— .
> \AA/ WA
i

-Sad R A euwr I, 80

(A) 4A B) -2A
) -4A D) 6A

76 Synchro is
(A) Parabolic transducer (B) An angular position transducer
(C) A synchronizing transducer (D) A variable transducer
T &
(A) YETes gieeggEr (B) U WGk 9iEd giEasgay

(©) T RF=prEfoiT grRIsgE (D) TFH NS TTHSTER

77  Value of R is
UfoRe® (R) &7 89197 —

10 R
I_._. Ehuferteny we _J e TR - = e L L ‘I
2A(]L1 1A, 120 ’%—"sv
. __1 B _____w,,,,,i
(A) 4 B) 6 O
-{(C) 8 Q (D) 18 Q

78 In star-star connected transformer.
(A) Line voltage is equal to phase voitage
(B) Line voltage is equal to J;? ‘phase voltage

(C) There is no line current
(D) There flows no phase current

TH ORI-AORT 3MMEE TR F—
(A) a@a‘r&m%ma}m%wsﬁm%

B) =T diced 3 B dlecdar @ S9ER BT 2
(C) i N I arT =8 -7 2
D) ®EF W FAT URT b gwIG AHE7 Bar B

EJE-2015 / II_A ] 62 [P.T.O.
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79 Relative permittivity can be measured by Bridge.
(A) Wheat stone (B) Hays
(C) Schering (D) Desauty’s
e aiEadl &1 A9 s s g e e ¥ —
(A) de== B) T
(C) RmEfGr ») I
80 The reluctance of the magnetic circuit shown in fig is-
A Ry v gushia |/Fc w1 ufoes &
________ > _¢ [,
3
Crmye
N
[ar
NI
Ay — ; B) NI xI
NI @
81 In a transformer copper losses at full load and unity p.f. are 800 W.
The copper losses at full load and at 0.8 p.f lagging will be
mﬁamﬁmmgﬁwwmﬁwwsoow
g ofy R wd wfeagees os ARFT & @ amefa &1 w1\ &nm-
(A) 400W (B) 640W
(C) BOOW (D) 200W
32 motor is a constant speed motor
(A) Synchronous motor (B) Schrage motor
(C) Induction motor (D) Universal motor
HArer g afd J@ew 21
(A) =P #ieR B) s Hew
(C) s—saH Hiev _ O) THEHA Hew
83 Find total power consumed in the circuit given-
faw w1 gfRuy A faga & | @ua 1 IReaa Hid
0.50
r AAA -
{10 10
1
15V_l_ = _—I—_20V
(A) 266.25W B) 261.5W
(C) 264W (D) 268W
EJE-2015 / ILA ] 63 : [P.T.O.
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84 A 3¢ synchronous motors has been provided with damper winding. It can
be started as a
(A) Simiple phase synchronous motor
(B} 30 squirrel cage induction motor
{(C) 1¢ induction motor
(D) 3¢ alternator
T Fawen geoeifees Ay # argwma aEfigy wae fhar en 21 a@s
ey B o gear 8
(A) THF Hoh gOHEAEe AR FH U fH
(B) fzper S8 4oy Hie]d @ wg #
(C) UYaHrst HAT U7 #HER F B9 A
(D) HHaT sicee? & vy
85 The gas filled in vacuum filament lamps is
(A) Nitrogen tB) Argon
(Cy Air (D) MNone
Fage Thomie &g ¥ 9 3 & B9 W T 98 Bad &)
(A) "NgETHA (B) 3amta
(C) arg (D) HE 4T
86 The wave shape of current flowing through an inductor is
Al Gvr # gaifad o7 &1 o9 AR e U @ Bar R
T -t
The wave shape of voltage drop (V) across the inductor is
JEHEAR Y WRE D OgE A aeear-—Ura (v) BT avdl eER Fra 8§ 389
|1 BT ?
iT‘
{(A) (B .f,/1
(=] ¥ 1 o 11—
T.. vl
v - S e e m m R ow oo
(©) / ’] (D) y
o ¥ — T t—>
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87 The creeping is observed in
{A) Ammeter meter (B) Wattmeter
(C) Energy meter (D) Volt meter
faedor (@R Brar god @ s a8 9 2
(A) eI #Ae (B) dreHIex
(C) oIl Wex (D) dreEHIeR
88 Carbon arc lamps are commonly used in
(A) Photography (B) Cinema projectors
(C) Domestic lighting (D) Street lighting
wEE IS ST BT WEWT BRI B—
(A) BT # @) = goaes #
(C) ™R gl # D) TSH UHrT #H
89 The energy stored in the magnetic field of a solenoid 10cm long and 2Zcm
diameter, with 1000 turns of carrying current of 10A is
10 A 9 ORI F1 aBT B el aR @ 1,000 B A w10 FA AT
R 2 Ol s aret afRFEfreeT @ gy g A R SOt %1 wuE
BHTT?
(A) 1.15) (B) 0.015J
(C) 0.19) (D) 0.5]
90 Electrostatic instruments are used for measuring
(A) AC and DC voltage "(B) AC Voltage and current
(C) DC voltage and current (D) AC and DC currents
Rer dga SuaRvl frad AWE & WA H WY ST B
(A) AC 3iR DC dqleedr (B) AC dleedl 3R &RI
(C) AC dicear 3R ri (D) AC 3R DC =€ri
91 The gain of an operational amplifier will be maximum at-
(A) 1Hz (B) 50Hz
(C) 100Hz (D) DC
Th ITRIFT TRSHER BT 9 Aferpas 8nn—
(A) U 8cH (B) 50 ®&ul
(C) 100 ®TH o) I M H
92 Value of R in Q
R &7 A £ H —
1 24
100V 100 A
(A) 10 Q ' (B) 20 Q
(C) 30 © (D) 40 Q@
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93 Distribution transformers have core losses-
(A) More than full load copper losses
(B) Equal to full ioad copper losses
(C) Less than full load copper losses
(D) negligible compared to full load copper losses
aRenfics 7 faaf s s =idT 27
(A) T R am BT @ s
B PiF ¥R am s~ ar & swEe
(©) 9o R T ==y 9 o9
(D) Yol Rk g™ == a5y g1 ] Sarueg

94 Which one is not a basic logic gate?

(A) AND gate (B) NOT gate
(C) NAND gate (D) OR gate
ST A B IR dffors e T8, 2
(A) AND 7= B #Hie e
(C) == e ») /R e
95 Tesla is same as
(A) weber/meter (B) weber/ (meter)2
(C) farad/ meter (D) Henry /(meter)?
THeT fras wam 2
(A) qER/Hex B) qE%/ #Hex)?
(C) wIs/Hex (D) B8/ ()2
926 What are the advantage of DC transmission system over AC transmission

system?

(A) DC system is economical for long line

(B) There is no skin effect in DC system

(C) Corona limits are highest for DC circuit as compared to AC circuit

(ID) All of the above
Q.?ﬂ.ﬂiﬂﬁaﬁmwaﬁﬁmmﬁﬁ%mw%?
(A)@.ﬁ.maﬁﬁim%,aﬁiqﬁa%%q

(B) @.ﬁ‘mﬁaﬁ%ﬁwmﬂﬁriﬁm

©) ﬁﬁmmqﬁ.mﬁﬁeaﬁgﬂmﬁ@o@o%ﬁm%l

(D) JIRNaa ST

97 NMI stands for

(A) Non-mask interface (B) Non-makeable interrupt
(C) Non-mask interaction (D) None of there

NMI T "Jaa9 28—

(A) 1 AP =y B) =1 T o=

(©) =1 " sewgEE D) HE TEY
98 The dissipation factor of good dielectric is of the order of
m—ﬂimmwmﬁ?ﬂﬁuﬁw%l

(A) 0.0002 (B) 0.002
(C) o002 (D) 0.1
66 [PTO.
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99  Voltage under extra high voltage are-
(A) 1KV and above (B) 11KV and above
(C) 132KV and above (D) 330KV and above
sfaRad Swa dleew @ JI=pikl dieew 8 8|
(A) 1 HE 3R HuX (B) 11 @Al 3R SW
(C) 132 Fdl IR FWR (D) 330 A IR IR
100 A passive network is one which contains
(A) Only variable resistance
(B) Only some sources of emf in it
(C) Onmnly two sources of emf in it
(D) No source of emf in it
v Ofda Acasr Bar 2 Rred
(A) Haod INAea Uitk 87 (B) ®aed HY emf A
(C) gl &l emf W o) HE emf HIE S
101 Coal used in power plant is also known as
(A) Steam coal (B) Charcoal
(C) Coke (D) Soft coal
faorel d@am A SWE oIl e vu #§ W I ST 8
(A) H P (B) IR®BIA
(C) BT D) =RA HIAT
102 If the height of transmission tower is increased, which of the following
parameter is likely to change?
(A) Resistance (B) Inductance
(C) Capacitance (D) None of the above
gReor ekl @ Eis d9¢ Wi &, o e "agst @, S 98ett @
Ri i
(A) wfeREr (B) S~S®Hc~H
(C) dHufae=H (D) Suad H | HiE A8l
103 One Maxwell is equal to
(A) 108webers (B) 10%webers
(C) 10%webers @) 10%webers
T AoEad =
(A) 1078 q&¥ (B) 10* a€49
(C) 107 aq=EH D) 10® J§H
104 Which of the following is not part of diesel engine power plant?
(A) Cooling tower : (B) Penstock
(C) Oil pump (D) Strainer
e B 9 P A Soie Eue fQorelt waw &1 e A8 §7
(A) @fdT emar B) wARi®
(C) <« u ®) R
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ACSR Conductor having 7 Steel strands surrounded by 25 aluminium®

conductor will be specified as

25@%%&3&?@%7?&6{%ACSR & fFa ave fAafdfe
fsar s ? :

7 7
@ 33 ® 33

25 25 -
© = ® 33

Which of the following primary cells has the lowest voltage?
(A) Lithium (B) Zinc- chioride
(D) Carbon-zinc

(C) Mercury
=1 4. & fra wrefie @ 9 geews G &7
(A) <=nfergw . B) Siv-—geiiss
©) =B (D) FHHF-f3w

Compressor used in gas turbines is
{A) Reciprocating compressor (B) Plunger type compressor
(C) Screw compressor (D) Mutltistage axial flow compressor

Wmﬁ.m%ﬁwﬁwzﬁtﬁv\T%

A) TEMHRET HER (B) WIS <I3Y HRraw

(C) Y9 3w D) H#HETRS e yae waraw
Steel poles for transmission lines need protection against-

(A) Termites : (B) Borer

(C) Corrosion

Wmﬁ%%,mﬁaﬁ%wﬁmma&mﬁmmsﬁﬁé?

) < o (D) 3Ry W4T

In a system if the base load is same as maximum demand. the load factor

will be

Ay 1 (B) Zero
«©) 'Innﬁz‘t'_ﬁij}" o . (D) I percent ;
Waﬁa’“éﬁﬁ?ﬁdﬁmiﬁmﬁéﬁﬁmﬁﬁuﬁfﬂﬁm'ﬁwm
@A 1 A ®B) 3=
©) s D) 1 ufaera
In the analysis of short transmission lines, which of the following is neglected?
(A) I°R loss (B) Shunt admittance -
() 'Séﬁé'.s impedance (D) Al of the above
Y uReer sngsr 3 fAvawer ¥ ey H A IewaT Gusy @Y Ty 2y
(A) PR sfy B) T us@dsg :
©) sHger uidemmer (D) IUNFT
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111 The period of a wave is
(A) the same as frequency
(B) Time required to complete one cycle
(C) expressed in amperes
(D) none of the above
e a9 &1 Rgs &
(A) firag=1 =T
B) TH = g HIA > fag afsa w5
(C) vufumd # =oaa
(D) SuwRiEd ¥ § ®HF Tl
112 The power factor of a system on a 460V, 3 Phase, 60Hz, in which the
ammeter indicates 100amp and watt meter reads 62KW will be
rdl woell 9T gaR Baex o7 BNT afE Woiel W 460 dIeT, aWBS, 60
sdol O¥ gHIeR 100 Ampaﬁ?meﬁaezxwawfr%rrfa@m%'
(A) 0.95 (B) 0.78
(C) 0.65 ' @) 0.55
113 A C T is connected in with the line
' (A) Series (B) across
(C) Both Aand B (D) Not connected
wp CT &S & aef ST BT 81
(A) e B) 9N
(C) A 3R B ©mFT D) TS =11 B
114 Armature reaction of an unsaturated DC machine is
(A) Cross magnetizing (B) Demagnetizing
(C) Magnetizing i (D) None of the above
sgE &Y W "EiE 9 amtER wiafhar ® .
(A) HE st @) fErmeEfsT
(© HFFersiEt ©) SwWEa # | g A8
115 When alternating current pass through a conductor
(A) It remains uniformly distributed throughout the section of conductor
(B) Portion of conductor . near the surface carries more current as compared
to the core
(C) Portion of conductolt near the surface carries less current as compared
to the core B
(D) Entire current passes through the core conductor
Qe wSdeX @ HEDH yEdl ORl JoRl 8, a9
(A) I8 A 9 A P # grT WX 7 fFaf¥a wwar 81
(B) @R & gerr #A & v A g 8k 81
(C) ®R B ol 7 HA§ D U HH GRT BRN ¥
(D) T g9rRl HSIEY IR A YO T "
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116 Inductance furnaces are used for
(A) Melting of aluminum (B) Heating of insulator

(C) Heat treatment of casting (D) Al of above
UNUT WfeedT wAnT fear wirar 2@

(A) THIFRE & fagas & farg

(B) FTHISR &1 TH B B farg

(C©) IREST &1 W Sgar

(D) Hu’rad e
117 Speed control! by Ward Leonard method gives uniform speed variation
(A) In one direction (B) in both direction

(C) below normal speed only (D) above normal speed only
mmm%mm#mmmmg
(A) Us faem B) 77 faensit F

(©C) ™= afg 9 9= (D) wHE=g Ifad A Hux

118 For distortion less transmission line

UF HH fAvuer waver oz @ farg

(A) R/AL=G/C B) RL=GC
(C) RG=LC (D) RLGC=0
119 For arc heating, the electrodes used are made of-
(A) Aluminium (B) Tungsten
(C) Copper (D) Graphite
Wﬁ%a‘#%@ﬁsﬂa@zﬁaﬁsﬁa@sméﬁﬁ%?
A) uvgfafaan MB) T
(C€) Y= D) UwIsT

120 The highest voltage for transmitting electrical power in India is
WRG H fga ofts awWiwer 3g Semaw aeew ©
(A) 33kV (B) 66kV
(C) 132kVv (D) 400kV
121 When two conductors each of radius r are at a distance D, the capacitance
between the two is proportional to-

(A) log, [ ?] ®B) log, ( "-)
l, . 1
©  log, [-‘?J ®)  log, [ %]
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122 The power factor will be leading in case of - _
(A) Induction heating (B) Resistance heating
(C) Dielectric heating (D) Electric arc heating
qer Baex e # few Rufr # sl € 7
(A) WRUT SEE — B) uftREr S%+
(C) sHEzafdgs ST D) sofdg® ’DH IHA
123 The low power factor of induction motor is due to
(A) rotor leakage reactance
(B) stator reactance
(C) the reactive lagging magnetizing current necessary to generate the
magnetic flux
(D) all of the above
wmﬁmwmﬁwmwﬁ?ﬂw%ﬁm%
(A) ey o Ruecw
(B) wel Ruactd
© e gedd daT B © farg sz Refea AT F=aghiT
P
D) SudE I
124 Alternating current is transmitted at high voltage
(A) To safeguard against pilferage
(B) To minimize transmission losses
(C) To reduce cost of generation
(D) To make the system reliable
gemadt R ST UNUT e oed diecn R fHIT wwar &
(A) =8 & fRagemw wen @& few
(B) HaxoT ®f B wH B & A
(C) SwEd & @rTa HA @ @ o
(D) woeh @Y Rzaeim S B
125 Which among the following cable are generally suited for the voltage up to
11kV?
(A) Belted cabless (B) Screened cables
(C) Pressure cables (D) None of these
frefRag SEe @ €9 F o) WERIE: 11 kv 9@ @ dreew & el
Iuga 8 :
(A) J=os =fad B) B BHias
(C) N A (D) TR | Big A8
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